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Time & Work and Pipe cistern  (Chapter -1) 
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1. Two pipes A and B can separately fill a cistern in 60 minutes and 75 minutes respectively. 

There is a third pipe in the bottom of the cistern to empty it. If all the three pipes are 

simult aneously opened, then the cistern is full in 50 minutes. In how much time, the third 

pipe alone can empty the cistern? (2016 SBI Clerk Mains)        

(a) 90minutes (b) 100 minutes (c)110 minutes (d) 120 minutes (e) None of these 

Ans: B 

Work done by the third pipe in 1 min. 

 =(1/50) ɀ [(1/60) + (1/75)] = [(1/50) (3/100)] = (1/100)  

 ḈThe third pipe can alone fill the tank in 100 minutes 

2. A pipe can empty a tank in 40 minutes. A second pipe with diameter twice as that of the 

first is also attached with the tan k to empty it. The two together can empty the tank in ; 

(2016 SBI Clerk Mains)        

(a) 8 minutes (b) 131 3 minutes (c) 30 minutes (d) 38 minutes (e) None of these 

Ans: A 

Here volume of water emptied by the second pipe will be 4 times to that of first Hence, Time take 

will be 1/4 of the first pipe. When both the pipes are open the part of the tank emptied in 1 minute= 

1/8 Hence the tank will be emptied in 8 minutes. 

3. 8 men and 4 women together can complete a piece of work in 6 days. Work done by a man 

in  one day is double the work done by a woman in one day. If 8 men and 4 women started 

working and after 2 days, 4 men left and 4 new women joined. In how many more days will 

the work be completed?  (2016 SBI Clerk Mains)        

 (a) 5 days (b) 8 days (c) 6 days (d) 4 days (e) 9 days 

Ans: A 

4. A can do a piece of work in 4 hours . A and C together can do it in just 2 hours, while B and 

C together need 3 hours to finish the same work. B alone can complete the work in --- hours.  
(2016 SBI Clerk Mains)        

(a)10hrs (b) 12hrs (c) 16hrs (d)8hrs (e) 6hrs 

Ans: B 

Work done by A in 1 hour = 1/4 

Work done by B and C in 1 hour = 1/3 

Work done by A and C in 1 hour = 1/2 

Work done by A,B and C in 1 hour = 1/4+1/3 = 7/12 

Work done by B in 1 hour = 7/12 ɀ 1/2 = 1/12 => B alone can complete the work in 12 hours 

https://www.facebook.com/BankPoClerk/?ref=aymt_homepage_panel
https://www.facebook.com/groups/2148759855448538/?source_id=117234085093214
https://t.me/joinchat/J8jQkg8azrnOjC1LiWFvJg
file:///F:/Ambitious%20Baba/One%20liner/January%202019/t.me/ambitiousbaba


 

Facebook Page                     Facebook Group                         Telegram Group                    Telegram Channel 

  

AMBITIOUSBABA.COM | MAIL US AT 

CONTACT@AMBITIOUSBABA.COM 
4 

 

5. A cistern can be filled by two taps A and B in 12 hours and 16 hours respectively. The full 

cistern can be emptied by a third tap C in 8 hours. If all the taps are turned on at the same 

time, in how much time will th e empty cistern be filled completely?  (2016 SBI Clerk Mains)        

(a)40hrs (b) 42hrs (c) 48hrs (d) 38hrs (e) 44hrs 

Ans: C 

Solution:   
 
Time taken by tap A to fill the cistern = 12 hours.  
 
Time taken by tap B to fill the cistern = 16 hours.  
 
Time taken by tap C to empty the full cistern = 8 hours.  
 
!ȭÓ ρ ÈÏÕÒȭÓ ×ÏÒË Ѐ ϋȾϛϜ 
 
"ȭÓ ρ ÈÏÕÒȭÓ ×ÏÒË Ѐ ϋȾϛϠ 
 
#ȭÓ ρ ÈÏÕÒȭÓ ×ÏÒË Ѐ Ϻ1/ 8  (cistern being emptied by C)  

 
4ÈÅÒÅÆÏÒÅȟ ɉ! Ϲ " Ϲ #ɊȭÓ ρ ÈÏÕÒÓ ÎÅÔ ×ÏÒËЀ ɉϋȾϛϜ Ϲ ϋȾϛϠ - ϋȾϢɊ Ѐ ϋȾϞϢ 
 
Therefore, time taken by (A + B + C) to fill the cistern = 48 hours .  

6. P and Q need 8 days to complete a work. Q and R need 12 days to complete the same work. 

But P, Q and R together can finish it in 6 days. How many days will be needed if P and R 

together do it?  (2016 SBI Clerk Mains)        

(a) 12days (b) 10days(c) 8days (d) 6days (e) 14 days 

Ans: B 

Let work done by P in 1 day = p 

work done by Q in 1 day =q 

Work done by R in 1 day = r 

p + q = 1/8 ---(1) 

q + r= 1/12 ---(2) 

p+ q+ r = 1/6 ---(3) 

(3) ɀ (2) => p = 1/6 - 1/12 = 1/12  

(3) ɀ (1) => r = 1/6 ɀ 1/8 = 1/24  

p + r = 1/12 + 1/24 = 3/24 = 1/8  
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=> P and R will finish the work in 8 days 

 

7)  A is 50% more efficient than B. They together start the work and th  of work is left 

after 8 days. Find in what time B alone will complete the whole work.  (IBPS CLERK 
MAINS 2018)  
(a) 34 days  (b) 42 days (c) 50 days (d) 48 days (e) 46 days 
 

Ans. (D) 
Sol. Ratio of efficiency of A to B is 3 : 2 
Let, In 8 days they complete = (3 + 2) × 8 = 40 units 

So, total work = 40 ×  units 

Time taken by B alone to complete whole work =  = 48 days 

 

8. Rahul and Rajat  together can complete  a work in half the time of Pali, while Rajat and Pali 

together can complete the same work in  rd time of Rahul. If they together complete the 

work in 30 days then in how  many days Rahul alone can complete the work?  (IBPS RRB 

CLERK MAINS 2018) 

(a) 120 days (b) 150 days (c) 90 days (d) 100 days (e) 140 days 

 

Ans: A 

Let efficiency of Rahul, Rajat & Pali be x, y & z resp. 

And we know time is inversely proportional to efficiency 

 

 
Therefore ratio of efficiency 

x : y : z = 3 : 5 : 4 

total work = 12 × 30  

= 360 unit  

Rahul alone can complete the work  days 

 

9) Five two ɀ way pipes A, B, C, D & E can either fill the empty tank or can empty the full tank 

in 15 minutes,  18 minutes, 6 minutes, 16 minutes and 24 minutes respectively. All five pipes 

were opened simultaneously when the tank is empty. Then, find which combination of tank 

can fill 50% of the tank.   (IBPS RRB CLERK MAINS 2018) 
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(a) A, B and D are filling pipes and C & E is emptying pipes. 

(b) A and B are filling pipes and C and D are emptying pipes. 

(c) E is filling pipe and B and C are emptying pipes. 

(d) C is filling pipe and A, B & E are emptying pipes. 

(e) None of the above. 

 

 

 

 

10) A 10 hectare field is r eaped by 2 men, 3 women and 4 children together in 10 days. If 
working capabilities of a man, a woman and a child are in the ratio 5 : 4 : 2, then a 16 hectare 

field will be reaped by 6 men, 4 women and 7 children in . (IBPS RRB CLERK MAINS 2017) 

(a) 5 days(b) 6 days(c) 7 days(d) 8 days(e) None of these 

 

Ans: D 

Ratio of their efficiency = 5 : 4 : 2  

One day work of 2 men = 10 units 
One day work of 3 women 12 units  
One day work of 4 children 8 units  
Let time taken is D 

=  

30 =  

D = 8 days 
 

11. A can do a piece of work in 10 days, B can do the same work in 12 days and C in 15 days. 

They all started working together, but A leaves the work after 2 days and B leaves the 

work 3 days before the work is completed. For how many days the wor k lasted? (IBPS 

RRB CLERK MAINS 2017 

(a) 8 days (b) 10 days (c) 7 days (d) 9 days (e) 6 days 
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From the question, 

A, B and C work together for 2 days. 

C works alone for 3 days. 

B and C finish the remaining work together. 

A, B and C finish the work in 2 days 

 

C finishes in 3 days 

 

Total work remaining =  1-1/2-1/5=3/10 

3/10 of work is done by B and C in 2days 

Total days to finish the work =  2+3+2= 7 days 

 

Percentage (Chapter -2)  

1. A shopkeeper purchased a TV for Rs. 2,000 and a radi o for Rs. 750. He sells the TV at a 

profit of 20% and the radio at a loss of 5%. The total loss or gain is (2016 SBI Clerk Mains)        

(a) Gain Rs. 352.50 (b) Gain Rs. 362.50 (c) Loss Rs. 332 (d) Loss Rs. 300 (e) None of these 

Ans:B 

 Total CP = 2000 + 750 = 2750  

Total Ὓὖ = 120 / 100 × 2000 + 95/  100 × 750 

 = 2400 + 712.5 = 3112.5  

Ḉ Total gain = 3112.5 ɀ 2750 = 362.5 Rs. 

ςȢ 2ÉÃÈÁȭÓ ÓÃÉÅÎÃÅ ÔÅÓÔ ÃÏÎÓÉÓÔ ÏÆ ψυ ÑÕÅÓÔÉÏÎÓ ÆÒÏÍ ÔÈÒÅÅ ÓÅÃÔÉÏÎÓ- i.e. A, B and C. 10 

questions from section A, 30 questions from section B and 45 question from section C. 

Although, she answered 70% of section A, 50% of section B and 60% of section C correctly. 

She did not pass the test because she got less than 60% of the total marks. How many more 

questions she would have to answer correctly to ear n 60% of the marks which is passing 

grade? (2016 SBI Clerk Mains)        

(a) 4 (b) 2 (c) 5 (d) 6 (e) 8 
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Ans:B 

Number of questions attempted correctly = 70% of 10 + 50% of 30 + 60% of 45 = 7 + 15 + 27 = 49  

Passing grade = (60/100 )* 85 = 51  

Reqd. Ans = 51 - 49 = 2 

3. Ms Deepti Jain invests 11% of her monthly salary, i.e. , Rs. 5236 in Fixed Deposits. Later 

she invests 19% of her monthly salary on Life Insurance Policies, also she invests another 

7% of her monthly salary on Mutual Funds. What is the total ann ual amount invested by Ms 

Deepti Jain? (2016 SBI Clerk Mains)        

 (a) Rs. 21134 (b) Rs. 17612 (c) Rs. 10567 (d) Rs. 35224 (e) None of these 

Ans:B 

ρρϷ ᴼ υςσφ  

ρϷ ᴼ τχφ 

 Ḉ (11 + 19 + 7) = 37% O  17612 Rs. 

 

τɊ 8ȭ ÉÓ Á ÂÒÅÁÄ ÓÅÌÌÅÒ ×ÈÏ ÍÁÒËÅÄ ÕÐ ÐÒÉÃÅ ÏÆ ÅÁÃÈ ÂÒÅÁÄ ÐÁÃËÅÔ ÂÙ ρυπϷ ÁÂÏÖÅ ÁÎÄ ÁÌÌÏ× 

ÄÉÓÃÏÕÎÔÓ ÏÆ τπϷ ÁÎÄ ÍÁÄÅ Á ÐÒÏÆÉÔ ÏÆ 2ÓȢ σπ ÏÎ ÅÁÃÈ ÂÒÅÁÄ ÐÁÃËÅÔȢ )Æ Ȭ8ȭ ÁÌÌÏ×Ó σχȢυϷ 

discount on each packet , then find how much profit he gets on selling 80 bread packets?  

(IBPS CLERK MAINS 2018) 

 

(a) Rs 2750 (b) Rs 3200  (c) Rs 2500 (d) Rs 2700 (e) Rs 2400 

 

Ans(d)  

Sol. 

Let cost price of each bread packet = a Rs. 

So, marked price of each bread packet = 2.5a 

And selling price of each bread packet = 2.5a = 1.5a 

Given, 1.5a  

a = 60 Rs. 

New selling price = 2.5a  

Selling price of one bread packet = 1.5625  

Required profit on selling 80 bread packets =  

                                                                              = 2700 Rs. 

 

 

5)   When digits of a first two digit number are reversed, then the resulting number will 

become 75% of second two digit number. The difference of squares of tens dig it and 
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units digit of the second number is 20. Find the first number.  (IBPS RRB CLERK MAINS 

2018)  
(a) 70 (b) 65 (c) 63 (d) 80 (e) 84 

 

Ans: E 

,ÅÔ ÔÈÅ ÔÅÎÓ ÄÉÇÉÔ ÁÎÄ ÕÎÉÔÓ ÄÉÇÉÔ ÏÆ ÆÉÒÓÔ ÎÕÍÂÅÒ ÂÅ ȬØ1 Ǫ ȬÙ1ȭ ÒÅÓÐÅÃÔÉÖÅÌÙȢ 

So, original number = 10   

Then, reversed number =  

Let the tens digit and units digit of second number be   &  respectively. 

So, second number =   

ATQ, 

  ..(i) 

Now, 

  = 20 

  ȣɉÉÉɊ 

Now, equation (ii) can have factors (10 × 2) (5  4) & (20  1) 

But by substitution, one will find that only  satisfies the equation (ii) 

Now, 

  ȣɉÉÉÉɊ 

& 

  ..(iv) 

Adding (iii) & (iv)  

2 2

2 2

2

2

10

2

2 12

6

x y

x y

x

x

+ =

- =

=

=
 

Put value of X2 in (iii)  

6 + y2 = 10 

y2 = 4 
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So, second number = 10 × 6 + 4 = 64 

Put, value of  in (i)  

  

= 48 

So, original number = 84 

 

6) A shopkeeper who sells same marked price shirts, announced an offer ɀ if one buys two 

shirts th en the buyer can buy the third shirt at the discounted price of Rs. 150. Ram took 

the offer and bought 12 shirts by paying Rs. 5,000 only. Find the overall discount 

percentage allowed by the shopkeeper.  (IBPS RRB CLERK MAINS 2018) 
 

(a) % (b) % (c) % (d) % (e) 28  

 
Ans:C 

 

Let marked price of a shirt be Rs. x. 

There fore, 

8x + 150 × 4 = 5000 

8x = 4400 

x = Rs. 550 

Total MP of 12 shirts = 12 × 550 

= Rs 6,600 

Required %  ×100 

 
 

7) Retailer marks up an article  above its cost price and he earned Rs. 250 when he 

gives  discount. If he had sold that article at Rs 1200, then find the discount 

percent allowed by the shopkeeper.  ( IBPS RRB CLERK MAINS 2018) 

(a)  (b) 20% (c) 36% (d) 25% (e) 30% 
Ans:C 

 

Let, CP = 8x 
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Then MP = 15x 

And SP  

Profit = 10x ς 8x = 2x 

Atq, 

2x = 250 

x = 125 

S.P. = Rs. 1250 

MP = Rs. 1875 

If he sold article at Rs 1200 then, the discount %  

  

 

8) Anil spends 25% of his monthly salary for his household expenditure and 12% on 

travelling. Out of the remaining, he spends 20% on clothes and saves the rest. If he 

saves Rs 2520 every month, what is his monthly salary?  (RRB  CLERK MAINS 2017) 

(a) Rs 5000 (b) Rs 15000(c) Rs 3000 (d) Rs 10,00 (e) Rs 8000 

 

Ans: A 

[Ŝǘ !ƴƛƭΩǎ {ŀƭŀǊȅ ōŜ wǎ Ȅ 

According to the question, 

25% of x =x/4; on household expenditure 

 

 

Therefore, remaining salary = 80%  

ᵼ x = Rs 5000 

9)An empty container is fille d with pure alcohol the alcohol is slowly to run out and when 

the container is one -fourth empty, it is replaced with water. Next, when the container is half 
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empty it is again filled with water. Finally, when it is three fourth empty, it is again filled 

wit h water. What percentage of container is alcohol now?  (RRB CLREK MAINS 2017) 

(a)  (b)  (c)  (d)  (e) None of these 

Ans: C 

Portion of container filled with alcohol at end  

 

 

 

Probability (Chapter -3) 

1. A bag contains 4 red, 5 yellow and 6 green balls. 3 balls are drawn randomly. What is the 

probability that the balls drawncontain no yellow ball ? (2016 SBI Clerk Mains)        

(a) 24/91(b) 33/91(c) 12/65(d) 17/182 (e) None of these  

Ans: A 

There are four casÅÓ ᴼ σ2ȟ ɉρ2ȟ ς'Ɋȟ ɉς2ȟ ρ'Ɋȟ  

3G  

Ḉ Required probability = 4ὅ3  +4 ὅ1 ×4 ὅ2  +4 ὅ2  × 6ὅ1  + 5ὅ3/  15 ὅ3   

= 4+ 4 × 15 +6 × 6 +20 /91 × 5 

 = 4 + 60 +36 + 20 /91 × 5 

 = 120 /91 × 5 

 = 24 /91 

2. A committee of 3 members is to be selected out of 3 men a nd 2 women. What is the 

probability that the committee has atleast one woman?  (2016 SBI Clerk Mains)        

 (a) 1/ 10 (b) 9/ 20 (c) 9 /10 (d) 1/ 20 (e) None of these 

Ans: C 

Probability = 2ὧ1×3ὧ2+2ὧ2×3ὅ1/  5ὧ3  

= 2×3+1×3/ 10  

= 9 /10 

3)Two boxes contain  4 and 16 balls respectively. Two balls in the fi rst box and four in the 

second,are black. If a box is chosen randomly and two balls are drawn  at random from it, 
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what is the probability that at least one ball is black if the ball is not replaced?  (2018 SBI 
Clerk Mains)        

(a) 11/20 (b) 43/120 (c) 77/120 (d) 9/ 20 (e) 44/12  

Ans: C 

At least one black can be chosen in three ways: 

 1. first one is black, second is non-black  

2. first one is non-black, second is black 

 3. both are black.  

Probability of selecting a box is 1 2  

Now, probability of choosing at least one black ball from first box  

= 1/ 2 × ( 2/ 4 × 2/ 3 + 2 /4 × 2 /3 + 2 /4 × 1/ 3 ) = 5 /12  

Probability of choosing at least one black ball from 2nd box = 1/ 2 × ( 4 /16 × 12 /15 + 12/ 16 × 4 

/15 + 4 /16 × 3/ 15) = 27 /120  

Final probability = 5 /12 + 27 /120 = 50 + 27 /120 = 77/ 120 

 

4)  In a bag which contains 40 balls, there are 18 red balls and some green and blue balls. If 

two balls are picked up from the bag without replacement, then the probabi lity of the first 

ball being red and second being green is 3/26. Find the number of blue balls in the bag. 

(IBPS CLERK MAINS 2018) 
(a) 16 (b) 12 (c) 10 (d) 14 (e) 8 
 

Ans. (D) 

Sol. Total balls   

Red balls   

Let green balls are x  

Then,  

  

 No. of blue balls   

 

Quadratic equation / Quantity I  and Quantity 2  - (Chapter -4)  

Directions (1 -5) : In each of these questions, two equations (I) and (II) are given. You have to 

solve both the eq uations and give answer.  (2016 SBI Clerk Mains)        

(a) if x > y  
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(b) if x y  

(c) if x < y 

 (d) if x y  

ɉÅɊ ÉÆ Ø Ѐ Ù ÏÒ ÎÏ ÒÅÌÁÔÉÏÎ ÃÁÎ ÂÅ ÅÓÔÁÂÌÉÓÈÅÄ ÂÅÔ×ÅÅÎ ȬØȭ ÁÎÄ ÙȢ  

1. I. 4x + 7y = 42 

 II. 3x ɀ 11y = ɀ l  

Ans: A 

τØ Ϲ χÙ Ѐ τς ȣɉÉɊ  

3x ɀ 11y = ɀ ρ ȣ(ii)  

Multiplying (i) by 3 and (ii) by 4 

 ρςØ Ϲ ςρÙ Ѐ ρςφ ȣɉÉÉÉɊ 

 12x ɀ 44y = ɀ τ ȣɉÉÖɊ  

Solving (iii) & (iv)  

x = 7 & y = 2  

Ḉ x > y 

2. I. 9x2 ɀ 29x + 22 = 0 

 II. y2 ɀ 7y + 12 = 0  

Ans: C 

I.9x² ɀ 29x + 22 = 0  

9x² ɀ 18x ɀ 11x + 22 = 0  

9x (x ɀ 2) ɀ 11 (x ɀ 2) = 0  

Ḉ ὼ = 2 έὶ 11/  9  

II.y² ɀ7y + 12 = 0 

 y² ɀ 3y ɀ 4y + 12 = 0 

 y (y ɀ 3) ɀ 4 (y ɀ 3) = 0  

y = 3, 4 Ḉ y > x 

3. I. 3x2 ɀ 4x ɀ 32 = 0 

 II. 2y2 ɀ 17y + 36 = 0  

Ans:D 
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I.3x² ɀ 12x + 8x ɀ 32 = 0  

3x (x ɀ 4) + 8 (x ɀ 4) = 0 

 Ḉ ὼ = 4, ɀ8 / 3 

 II.2y² ɀ 17y + 36 = 0  

2y² ɀ 9y ɀ 8y + 36 = 0 

 y (2y ɀ 9) ɀ 4 (2y ɀ 9) = 0 

 Ḉ ώ = 4, 9/  2  

Ḉ y І x 

4. I. 3x2 ɀ 19x ɀ 14 = 0  

II. 2y2+ 5y  + 3 = 0  

Ans: A 

I.3x² ɀ 19x ɀ 14 = 0  

3x² ɀ 21x + 2x ɀ 14 = 0  

3x (x ɀ 7) + 2 (x ɀ 7) = 0  

Ḉ ὼ = 7 έὶ ɀ2/  3 

 II. 2y² + 5y + 3 = 0 

 2y² +2y + 3y + 3 = 0  

2y (y + 1) + 3 (y + 1) = 0 

 ώ = ɀ 1 έὶ ɀ3/  2  

Ḉ x > y 

5. I. x2+ 14x + 49 = 0  

II. y2+ 9y = 0 

Ans: E 

I.x² + 2 × 7 × x + (7)² = 0  

Ḉ (x + 7)²= 0  

Ḉ x = ɀ 7  

II. y (y + 9) = 0  

Ḉ y = 0 or ɀ9  

Ḉ No relation. 
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Directions (6 -9) : In each of these questions, two equations (I) and (II) are given. You have to 

solve both the equations and give answer.   (2018  SBI Clerk Mains)        

(A) Quantity I > Quantity II 

ɉ"Ɋ 1ÕÁÎÔÉÔÙ ) І 1ÕÁÎÔÉÔÙ )) 

(C) Quantity II > Quantity I 

ɉ$Ɋ 1ÕÁÎÔÉÔÙ )) І 1ÕÁÎÔÉÔÙ ) 

(E) Quantity I = Quantity II or Relation cannot be established 

6) Quantity I: A and B together can do a piece of work in 4 days. If A alone can do the same 

work in 6 days, then B alone can do the same work in?  

Quantity II: A can do a piece of work in 4 hours; B and C together can do it in 3 hours, while A 

and C together can do it in 2 hours. How long will B alone take to do it? 

7) Quantity I: A man on tour travels first 160 km at 64 km/hr and the next 160 km at 80 

km/hr. The average speed of the tour is:  

Quantity II: A went from P to Q with the speed of 60km/hr. and return back with the speed of 

90km/hr. Find the average s peed. 

8)  There are 5 Brown balls, 4 Blue balls & 3 black balls in a bag .Four balls are chosen at 

random  

Quantity I: The probability of their being 2 Brown and 2 Blue ball Quantity  

Quantity II: The probability of their being 2 Brown, 1 Blue & 1 blacks  

9)  Quantity I: Time taken to fill the tank when A, B and C are o pened in every alternate 

minute starting with A and ending with C. A, B and C alone takes 20 minutes, 15 minutes and 

12 mi nutesrespectively to fill the tank.  

Quantity II: Find the time taken by wa ste pipe to empty the full cist ern. Two pipes alone can 

fill a cistern in 10 minutes and 15 minutes respectively. When  these two pipes along with the 

waste pipe are opened, the cistern gets filled in 18 minutes.  

6) Ans: A 

Solution:   

I. B work= 1/4 ɀ 1/6 = 2/24 ==> 12 days 

II.  !ȭÓ ρÈÒ ×ÏÒË ρȾτ Ȣ 

ɉ"Ϲ#ȭÓɊ ρ ÈÒ ×ÏÒË ρȾσȢ 

ɉ!Ϲ#ȭÓɊ ρÈÒ ×ÏÒË ρȾςȢ 

A+B+C 1hr work = 1/4+1/3=7/12.  

"ȭÓ ×ÏÒË ЀχȾρς ɀ 1/2=1/12  

12hours. 

7) Ans: C 

I. Total time taken = (160/64 + 160/80) =9/2hrs  

Then avg speed =320/(9/2) 

=320*2/9= 71.11km/hr . 

II. (2*60*90)/150=72km/hr.  

8) Ans: C 
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I. (5c2 * 4c2)/12c4 = 60/495=4/33  

II. (5c2 * 4c1 *3c1)/12c4 =120/95=8/33  

9) Ans: A 

Sol. Quantity I:- Let total capacity of tank be 60. Units filled in first three minutes = 3 + 4 + 5 = 12 

Hence, total time taken = 5 × 3 = 15 minutes  

Quantity II:- Let waste pipe can empty the cistern in x min 

 1/  10 + 1/  15 ɀ 1/  ὼ = 1 / 18  

ᵼ 1/  ὼ = ωϹφϺυ / 90 = 10/  90  

ᵼ x = 9 minutes 

 Quantity I > Quantity II 

 

10)   

              (2018  SBI Clerk Mains)       

 

A) x y B) x y C)x y D)x y E) x = y or no relation can be established between x and y. 

Ans: E 

Explanation  ɀ        I.   

  

  

  

 x = ɀ 6,  

II.  

  

 = 0 

 y =  

         No relation 

11) 6x =  

                           (2018  SBI Clerk Mains)       
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     A)  x y   B) x y   C) x y  D) x  y  E)  x = y or no relation can be established between x 

and y. 

Ans: C Explanation  ɀ  I. 6x =  

         x =  

          x = 3 

        II.  

 

  y = 5.5 

     x < y  

12)  I. 3x2 ɀ 14x + 15 = 0  

II. 3y2 ɀ 20y + 25= 0        (2018  SBI Clerk Mains)       

(a)If x > y(b)If x < y(c)If x І ÙɉÄɊ)Æ Ø Ѕ ÙɉÅɊIf x = y or relation cannot be established 

Ans: E relation cannot be established  

 

Direction (13 -17) In each of these questions, two equations (I) and (II) are given. You have to 

solve both the equations and give answer  (IBPS CLERK 2017 MAINS)  
13. (I)  

(II)  

(a) if x y 

(b) if x y 

(c) if x y 

(d) if x y 

(e) if x = y or no relation can be established between x and y. 
Ans:A, 
Exp: (I)  

  

  

  

(II )  

8y(y ɀ 1) ɀ4 (yɀ1) = 0  

y = 1,  
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x > y  
14. (I)  

(II)  

(a) if x y 

(b) if x y 

(c) if x y 

(d) if x y 

(e) if x = y or no relation can be established between x and y. 
Ans:E, 
Exp: I.   

  

  

  

II.  

  

  

No relation  
15. (I)  

(II)  

(a) if x y 

(b) if x y 

(c) if x y 

(d) if x y 

(e) if x = y or no relation can be established between x and y. 
Ans:E, 
Exp: (I)   

13x (x +1) ɀ 4 (x + 1) = 0  
  

  

(II)  

  

(y ɀ 1) (2y + 3) = 0  

y = 1,  

No relation  
16. (I)  

(II)  

(a) if x y 

(b) if x y 

(c) if x y 

(d) if x y 

(e) if x = y or no relation can be established between x and y. 
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Ans: A 
Exp: (I)   

  

  

  

(II)   

  

  

y=6,  

x > y  
17. (I)  

(II)  

(a) if x y 

(b) if x y 

(c) if x y 

(d) if x y 

(e) if x = y or no relation can be established between x and y. 
Ans:E, 
Exp: (I)  

  

  

x = ɀ1,  

(II)  

6y (y+1) ɀ 4(y+1) = 0  
(y+1) (6yɀ4)=0 

y = -1,  

 

Direction (18 -22): In the given questions, two quantities are given, one as Ȭ1ÕÁÎÔÉÔÙ ρȭ and 

another as Ȭ1ÕÁÎÔÉÔÙ ςȭȢ You have to determine relationship between two quantities and choose the 

appropriate option: (IBPS CLERK MAINS 2018)  

18. A is twice as efficient as B. Both can complete a work together in  days. 

Quantity 1:  Time taken by B to complete the work alone. 
Quantity 2:  If C is 50% more efficient than A, then time taken by C to complete the work alone. 
(a) Quantity 1 > Quantity 2 
ɉÂɊ 1ÕÁÎÔÉÔÙ ρ І 1ÕÁÎÔÉÔÙ ς 
(c) Quantity 2 > Quantity 1 
ɉÄɊ 1ÕÁÎÔÉÔÙ ς І 1ÕÁÎÔÉÔÙ ρ 
(e) Quantity 1 = Quantity 2 or Relation cannot be established 
19. One of the roots of  is 1. 

Quantity 1 : Value of the other root. 

Quantity 2 : 2.5 
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(a) Quantity 1 > Quantity 2 
ɉÂɊ 1ÕÁÎÔÉÔÙ ρ І 1ÕÁÎÔÉÔÙ ς 
(c) Quantity 2 > Quantity 1 
ɉÄɊ 1ÕÁÎÔÉÔÙ ς І 1ÕÁÎÔÉÔÙ ρ 
(e) Quantity 1 = Quantity 2 or Relation cannot be established 
20. Two dices are rolled simultaneously.  
Quantity 1:  Probability that the sum of the numbers that appeared is a multiple of 5. 

Quantity 2:  1/6  

(a) Quantity 1 > Quantity 2 
ɉÂɊ 1ÕÁÎÔÉÔÙ ρ І 1ÕÁÎÔÉÔÙ ς 
(c) Quantity 2 > Quantity 1 
ɉÄɊ 1ÕÁÎÔÉÔÙ ς І 1ÕÁÎÔÉÔÙ ρ 
(e) Quantity 1 = Quantity 2 or Relation cannot be established  
21.  Sum of height and diameter o f the cylinder is 28 meter.  
Quantity 1 : Curved surface area of the cylinder whose respective ratio of height to diameter is 3 : 4 

Quantity 2 :  Curved surface area of the cylinder if height of cylinder is 10 m. 

(a) Quantity 1 > Quantity 2 
ɉÂɊ 1ÕÁÎÔÉÔÙ ρ І Quantity 2 
(c) Quantity 2 > Quantity 1 
ɉÄɊ 1ÕÁÎÔÉÔÙ ς І 1ÕÁÎÔÉÔÙ ρ 
(e) Quantity 1 = Quantity 2 or Relation cannot be established  
22.  0ÒÏÄÕÃÔ ÏÆ ÄÉÇÉÔÓ ÏÆ Á Ô×Ï ÄÉÇÉÔÓ ÎÕÍÂÅÒ Ȭ.ȭ ÉÓ ςρ 
Quantity 1 :    N  

Quantity 2 : 130ςN 

(a) Quantity 1 > Quantity 2 
(b) 1ÕÁÎÔÉÔÙ ρ І 1ÕÁÎÔÉÔÙ ς 
(c) Quantity 2 > Quantity 1 
ɉÄɊ 1ÕÁÎÔÉÔÙ ς І 1ÕÁÎÔÉÔÙ ρ 
(e) Quantity 1 = Quantity 2 or Relation cannot be established 
 

18. Ans.(a) 

Sol.  

Efficiency ratio of A and B   

QUANTITY 1: Time taken by  

 days 

QUANTITY 2: Efficiency of   

  

 days 

QUANTITY 1 > QUANTITY 2 

 

19. Ans.(c) 

Sol. 
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 Quantity 1: Let roots are  then   

  

Quantity 2: 2.5 

  

 

20. Ans.(a) 

Sol.  

Quantity 1: 

Favorable cases 

  

  

 Required prob.   

Quantity 2:   

Quantity 1 > Quantity 2 

 
21. Ans.(a) 

Sol.  

D + h = 28 m. 

Quantity 1 : 7x = 28 

x= 4 

r= 8 m 

h = 12 m 

Curved surface area of cylinder = нˉ ҎуҎмн 

Ґнˉ Ҏфс Ƴ2 

Quantity 2: 

h=10m 

Radius =  

=9 m 

/ǳǊǾŜŘ ǎǳǊŦŀŎŜ ŀǊŜŀ ƻŦ ŎȅƭƛƴŘŜǊ Ґ нˉ ҎфҎмл 

ҐнˉҎ фл Ƴ2 

Quantity 1 > Quantity 2 

 
22. Ans.(e) 

Sol. There will be two numbers 73 and 37 whose product of digits is 21 

So if we take 73 then 

Quantity 1 > Quantity 2 

And if we take 37 then, 

Quantity 2 > Quantity 1 

So no relation can be established. 
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Directions (23 -28) : In each of these questions, two equations numbered I and II are given. 

You have to solve both the equation and give answer : (IBPS CLERK MAINS 2018) 
(a) if x < y 

(b) if x  y 

(c) if x > y 

(d) if x  y 

(e) if x = y or the relationship cannot be established 

23.  I.  

          II.  

24. I.  

          II.  

25. I. x =  

          II. y2 = 6 

26. I. 2x² + 17x + 35 = 0 

          II.  3y² + 17y + 24 = 0 

27. I. x² + 72 = 108 

   II.  y³ + 581 = 365 

28.   (I) 8x² + 58x + 39 = 0  

(II) 8y² ɀ 14y ɀ 15 = 0 

 

23. Ans. (a) 

Sol. I.   

  

  

  

  

  

  

  

  

  

 

24. Ans. (e) 

Sol. I.   

  

  

  

II.   
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No relation 

 

25. Ans. (c) 

Sol. I.   

  

II.   

  

  

 

26. Ans.(a) 

Sol. I. 2x² + 17x + 35 = 0 
2x² + 10x+ 7x + 35 = 0 

2x (x+ 5) +7 (x+ 5) = 0 

(2x+ 7) (x+ 5) =0 

 
II.  3y² + 17y + 24 = 0 

3y² + 9y + 8y + 24 = 0 

3y (y + 3) + 8 (y+ 3) = 0 

(y+ 3) (3y + 8) = 0 

 
y > x 

 

27. Ans.(d) 

Sol. I. x² + 72 = 108 

x² =108 ɀ 72 = 36 

x = ±6 

II.  y³ + 581 = 365 

y³ = ɀ216 

y = ɀ6 

Ø І Ù 

 

28. Ans.(b)  
Sol. 

(I) 8x² + 58x + 39 = 0  

8x² + 52x + 6x + 39 = 0  

4x (2x + 13) + 3 (2x + 13) = 0  

x = (ɀ13)/2, (ɀ3)/4  

(II) 8y² ɀ 14y ɀ 15 = 0 

8y² ɀ 20y + 6y ɀ 15 = 0  

4y (2y ɀ 5) + 3(2y ɀ 5) = 0  

y = 5/2, (ɀ3)/4  
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Ù І Ø 
 

Directions  (29 -33): In each of the following questions two equations are given. Solve the 

equations and give answer ɂ (RRB CLERK MAINS 2017) 

(a) If  

(b) If  

(c) If x> y 

 (d) If  

(e) or relationship between and  cannot be established 

 

29.. I. 35x2 53x  

II.  56y2 7y+42=0 

 

30. I.  

II.  

 

31.I.  

II.  

 

32. I. 6x² + 13x + 5 = 0 

 II . 3y² + 11y + 10 = 0 

 

33. I. 6x + 7y = 52 

 II . 14x + 4y = 35 
 

29. Ans.(a) 

Sol. 
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30. D 

Sol.  

I. 18x² + 18x + 4 = 0 

ᵼ 3x (3x + 2) + 1(3x + 2) = 0 

ᵼ (3x + 1) (3x + 2)= 0 

Ḉ  

II.  

 

 

 

ØІÙ 

 

31. Ans.(d) 

Sol.  

I. 8x² - 78x + 169 = 0 

ᵼ (2x ɀ 13) (4x ɀ 13) = 0 

Ḉ  

II.  

 

 

 

 

32.  Ans.(d) 
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Sol.  

I. 6x² + 13x + 5 = 0 

6x² + 3x+ 10x+ 5 = 0 

3x(2x+ 1) +5 (2x+ 1) = 0 

 

II.  

 

 

 

 

 
 

33. Ans.(a) 

Sol. 

Equation (I) × 4 and equation (II) × 7 

 

 

 

Ḉ y > x 

 

Area of Squares and Rectangles (Chapter -5)  

 

1. A rectangular grassy plot is 112 m by 78 m. It has a gravel path 2.5 m wide all round it on 

the inside. Find the cost of area of the path which has the cost of constructing it at Rs. 2 per 

square metre?  (2016 SBI Clerk Mains)        

a)1600 b) 1750 c)1850 d) 2000 e) 1500 

 

2. The length of rectangular floor is twice its breadth. If Rs 256 is required to paint the floor 

at the rate Rs 2 per sq m, then what would be the length of floor ?  (2016 SBI Clerk Mains)        

 (a) 16 m (b) 8 m (c) 12 m (d) 32 m (e) 20 m 

Ans: A 

https://www.facebook.com/BankPoClerk/?ref=aymt_homepage_panel
https://www.facebook.com/groups/2148759855448538/?source_id=117234085093214
https://t.me/joinchat/J8jQkg8azrnOjC1LiWFvJg
file:///F:/Ambitious%20Baba/One%20liner/January%202019/t.me/ambitiousbaba


 

Facebook Page                     Facebook Group                         Telegram Group                    Telegram Channel 

  

AMBITIOUSBABA.COM | MAIL US AT 

CONTACT@AMBITIOUSBABA.COM 
28 

 

Area = 2ὼ 2 m2  

Ḉ 2ὼ 2 × 2 = 256  

ὼ 2 = 64 

 ὼ = 8  

Ḉ Required length = 2 × 8 = 16 m 

3. If length of a rectangle is decreased by 6 cm we get a square and the area of square formed 

is 252 cm2 less than the area of square formed when breadth of the  original rectangle is 

increased by 6cm. Find the perimeter of the rectangle.  (2018  SBI Clerk Mains)       

(a)42 cm (b) 88 cm (c) 80 cm (d) 84 cm (e) 72 cm 

 Ans.(d)  

Sol. Let length and breadth of rectangle be l cm and b cm respectively 

So,  

l × (b + 6) ɀ b (l ɀ 6) = 252 

6 (l + b) = 252 

2 (l + b) = 84 cm 

4. Breadth of a rectangle is equal to the diagonal of the squar Å ×ÈÏÓÅ ÓÉÄÅ ÉÓ ςȢυЍς ÃÍȢ 2ÁÔÉÏ 

between length and breadth of rectangle is 3 : 1. Find the area of the rectangle (in cm2).  
(2018  SBI Clerk Mains)       

(a) 125 (b) 75 (c) 90 (d) 100 (e) 115 

 Ans.(b)  

3ÏÌȢ $ÉÁÇÏÎÁÌ ÏÆ ÓÑÕÁÒÅ Ѐ ςȢυЍς ϼ Ѝς Ѐ υ ÃÍ 

Length of rectangle = 5 × 3 = 15 cm 

Breadth = 5 cm 

Area of rectangle = 15 × 5 = 75 cm2 

5) A solid sphere of radius 6 cm is melted and re -casted into a hollow cylinder of uniform 

thickness. If the external radius of the base of the cylinder is 5 cm and its height is 32 cm, 

find the uniform thickness of the cylinder ?  (2018  SBI Clerk Mains)       

(a) 3 cm (b) 1.5 cm (c) 1 cm (d) 2.5 cm (e) None of these 

Ans: C 

Let, inner radius of cylinder be Ȭὼȭ cm. 

 4 / 3 “(6)^ 3 = “ × 32 (5^ 2 ɀ ὼ̂  2 )  
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or, 4 × 6 × 6 × 6 /3 × 32 = 25 ɀ x^ 2 

 or, ὼ̂  2 = 25 Ϻ 9 or, ὼ = 4 cm 

 Hence, thickness = 5 ɀ 4 = 1 cm. 

 

φɊ 4ÈÅÒÅ ÉÓ Á ÓÑÕÁÒÅ ÆÉÅÌÄ ÏÆ ÁÒÅÁ Ȭ8ȭ ÓÑÕÁÒÅ ÍÅÔÅÒÓȢ ! ÃÙÌÉÎÄÒÉÃÁÌ ÄÉÔÃÈ ÏÆ ÒÁÄÉÕÓ χ ÍÅÔÅÒÓ ÁÎÄ 

depth 2 meters is dug, and the earth is taken out and spread over the remaining part of the 

ÓÑÕÁÒÅ ÆÉÅÌÄȟ ÔÈÅ ÈÅÉÇÈÔ ÏÆ ÓÑÕÁÒÅ ÆÉÅÌÄ ×ÈÉÃÈ ÇÏÅÓ ÕÐ ÂÙ πȢχχ ÍÅÔÅÒÓȢ 7ÈÁÔ ÉÓ ÔÈÅ ÖÁÌÕÅ ÏÆ Ȭ8ȭ ȩ 

(IBPS CLRK MAINS 2018) 

(a) 548 m2 (b) 524 m2 (c) 518 m2 (d) 554 m2 (e) 504 m2 

 

Ans(D)  

 

6ÏÌÕÍÅ ÏÆ ÔÈÅ ÃÙÌÉÎÄÒÉÃÁÌ ÄÉÔÃÈ Ѐ ʌÒ2h 

                                                        =   

                                                        = 308 m2 

Area of remaining field = (X ʌÒ2) m2 

                                          = (X  m2 

 

(X   

(X  

X = 554 m2 

 

7)The short and the long hands of a clock are 4 cm and 6 cm long respectively. What 

will be sum of distances travelled by their tips in 4 days? (Ta ËÅ ʌ  Ѐ σȢρτɊ (IBPS RRB 

CLERK MAINS 2017) 

(a) 954.56 cm (b) 3818.24 cm (c) 2909.12 cm (d) 2703.56 cm (e)None of these 

 

Ans: B 

In 4 days, the short hand covers its circumference 4 × 2 = 8 times long hand covers its 

circumference 4 × 24 = 96 times  

Then they will cover a total distance of :ς 

όн Ҏ ˉ Ҏ пύ у Ҍ όн Ҏ ˉ Ҏ сύ фс ᵼ 3818.24 cm   

 

Mixture & Ratio (Chapter -6)  
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1. The salaries of A, B and C are in the ratio 1 : 3 : 4. If the salaries are increased by 5%, 10% 

and 15% respectively, then the increased salari es will be in the ratio?  (2016 SBI Clerk 
Mains)        

 (a) 20 : 66 : 95 (b) 21 : 66 : 95 (c) 21 : 66 : 92 (d) 19 : 66 : 92 (e) None of these 

 

2. 15 litres of a mixture contains alcohol and water in the ratio 1 : 4. If 3 litres of water is 

mixed in it, the percentage of alcohol in the new mixture will be  (2016 SBI Clerk Mains)        

(a) 15 (b) 50/3 (c) 17 (d) 37/ 2 (e) None of these 

Ans: B 

3ὼ /12ὼ+3 = 3ὼ /15ὼ 

 Ḉ New ratio = 1 : 5  

Ḉ Required % = 1 /6 × 100% 

 = 50 /3 %  

3)  There are two types of jar. In the 1st jar the ratio of copper and aluminium is 1:2 and in 

the 2nd Jar is 1: 4. In what ratio these two jar should be mix to make 3rd jar  In which the 

ratio of copper & aluminium become 1:3?  (2018  SBI Clerk Mains)       
a) 4:5 b) 3:5 c) 5:3 d) 3:2 d) 2:3 

Ans: B 

copper in 1st = 1/3 

Copper in 2nd = 1/5 

copper in 3rd = ¼ 

1/3                1/5  

.           1/4  

1/20              1/12  

3 : 5 

4)  From container A containing 54 liter of mixture of milk and water in ratio of 8 : 1 , 18 liter 
of the mixture is taken out and poured into container B in which ratio of milk to water is 3 : 
1. If difference between total milk and total water in container B i s 30 liter then find the 

quantity of initial mixture in container B.  (IBPS CLERK MAINS 2018) 
(a) 20 Liter (b) 24 Liter (c) 33 Liter (d) 32 Liter (e) 44 Liter  

 
4. Ans. (D) 
Let initially milk and water in container B is 3x liter and x liter respectively 
Now, 

3x +  × 18 ɀ x ɀ  × 18 = 30 

3x + 16 ɀ x ɀ 2 = 30 
x = 8 
Initial quantity is container B = 8 (3 + 1) = 32 Liter   
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5)  A vessel contains 25 liters petrol. 20% of the petrol is replaced by  kerosene oil, after 

that  30% of  the mixt ure is replaced by kerosene oil. Now, find the quantity of petrol in the 

final  mixture is what percent of the quantity of petrol in the vessel initially.  (IBPS RRB 

CLERK MAINS 2018) 
(a) 63%  (b) 47% (c) 51% (d) 56% (e) 67% 

 

Ans:D 

 

When 20% of petrol is replaced by kerosene oil: 

Quantity of petrol in the mixture =  

Quantity of kerosene oil in the mixture = 25 ɀ 20 = 5 liters 

When 30% of mixture is replace by kerosene oil: 

Quantity of petrol in the mixture = 14 liters 

Quantity of kerosene oil in the mixture = 25 ɀ 14 = 11 liters 

Required %  

= 56% 

6) In Ramnagar colony, the ratio of school going children to non -school going children is 5 : 4. 

If in the next year, the number of non -school going children is increased by 20% m aking it 

35,400, and the number of school going children remains same. Find the new ratio of school 

going children to non -school going children?  (IBPS RRB CLERK MAINS 2017) 

(a) 4 : 5 (b) 3 : 2 (c) 25 : 24 (d) Data inadequate (e) None of these 

 

Ans: C 

Let, total number of school going children = 50x  

And total number of Non-School going children = 40x  

 New Ratio =  

=  

 

Time, Speed and Distance (Chapter -7)  

1. A train is moving at a speed of 132 km/hour. If the length of  the train is 110 metres, how 

long will it take to cross a railway platform 165 metres long? (2016 SBI Clerk Mains)        
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(a) 5 second (b) 7.5 second (c) 10 second (d) 15 second (e) 9 second 

Ans: B 

 132×5 / 18 = 100+165/  ὸ  

ὸ = 275×18 / 132×5 

 ὸ = 7.5 seconds 

2) Length of two trains are 150 m and 200 m respectively and the r atio (shorter: longer) of 

their speed is 2 : 5. If they cross each other in opposite direction in 15 second then in what 

time faster train will overta ke the slower train.  (2018  SBI Clerk Mains)       

(a)25 seconds (b) 35 seconds (c) 32 seconds (d) 45 seconds (e) 27 seconds 

Ans: B 

Let speed of slower train = 2x  

ᵼ speed of faster train = 5x  

There Fore,  

150 + 200/  2x + 5x = 15 

 x = 10 / 3 

 Time required = 350 / 50/  3 ɀ 20/  3 = 35 second 

3)Train A, travelling at 84 kmph, overtook train B, traveling in the  same direction, in 10 

seconds. If train B had been traveling at twice its speed, then train A w ould have taken 22.5 

seconds to overtake it. Find the lengt h of train B, given that it is half the length of train A.  
(2018  SBI Clerk Mains)       

(a) 100 m (b) 50 m (c) 400 m (d) 250 m (e) 180m 

Ans:B 

Let speed of train B be ὼ m/s And length of train B be ώ m Then length of train A is 2ώ m Speed of 

train A = 84 × 5/  18 = 210/  9 m/s = 70/  3 m/s 

2ώ+ώ/  10 = 70/  3 Ϻ ὼ ȣȣȣȣȢɉi)  

and 2ώ+ώ / 22.5 = 70/  3 Ϻ 2ὼ  

solving (i) and (ii), ώ = 50 m 

4)  Train A can cross a man in 8 seÃ ÁÎÄ Á ρψπ Í ÌÏÎÇ ÐÌÁÔÆÏÒÍ Ȭ0ȭ ÉÎ ρχ ÓÅÃȢ )Æ ÔÒÁÉÎ ! 

cross train B which is running in opposite direction at speed of 108 km/hr in 8 sec, 

then find time taken by train B to cross platform P?  (IBPS CLERK MAINS 2018) 

(a) 15 sec (b) 11 sec (c) 14 sec (d) 12 sec (e) 10 sec 

 
Ans(c)  
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Sol. 

Let length of train A be Ȭ,ȭ Í ÁÎÄ ÓÐÅÅÄ ÂÅ Ȭ6ȭ ÍȾÓ 

ATQ ɀ 

V =  -------------- (i)  

And, V =  ------------- (ii)  

From (i) & (ii)  

  

17L  

L = 160 m 

And V = 20 m/s 

,ÅÔ ÌÅÎÇÔÈ ÏÆ ÔÒÁÉÎ " ÂÅ Ȭ3ȭ  

So,   

S = 400  

S = 240 m 

Let time taken by train B to cross platform P be t sec 

So,  *5= 240+180/T 

t = 420/30  = 14 SEC 

 

5) A train  covers certain distance in two parts. Distance covered in first part is 100% more 

than the distance covered in second part while ratio of speed of train in first part to second 

part is 4 : 1. If average speed of train is 20 km/hr then, find the speed of t rain in first part? 

(in km/hr)  (IBPS RRB CLREK MAINS 2018) 

(a) 10 km/hr (b) 40 km/hr (c) 20 km/hr (d) 25 km/hr (e) 60 km/hr 
 

 

I part II part

let Distance 2x x

let Speed 4y y  

Average speed  = 

=    3X/2x/2y+x/y=20  

On solving y = 10 

Speed in Ist part = 40 kmph 

 

6) A train takes 3  seconds to cross a pole and 22 seconds to cross a 855 m long bridge. What 

is the time taken by the train (in seconds) to cross a 215 m long train coming at a speed of 90 

km /hr from the opposite direction ?  (RRB CLERK MAINS 2017) 
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(a) 5 (b) 8 (c) 12 (d) 7 (e) 15 

 

Ans: A 

Let L and Vt be the length and speed of train respectively.  

 

 

 

 

 

L = 3 × 45 = 135 m  

Speed of the second train = 90 km/hr = 25 m/s 

Ḉ Time taken to cross 215 m long train  

 

 

Boat and Stream (Chapter -8)  

1. Distance between A and B is 24 km a boat travels from A to B and comes back in 6 hour. 

The speed of boat in still water is thrice the speed of stream. Find the speed of boat. (2016 
SBI Clerk Mains)       

(a)3 km/hr (b) 11 km/hr  (c) 7 km/hr (d) 12 km/hr (e) 9 km/hr  

Ans: E 

Let speed of stream be x km/hr.  

Ḉ speed of boat in still water is 3x km/hr  

There Fore,  

24/  3ὼ+ὼ + 24 / 3ὼ ɀὼ = 6  

https://www.facebook.com/BankPoClerk/?ref=aymt_homepage_panel
https://www.facebook.com/groups/2148759855448538/?source_id=117234085093214
https://t.me/joinchat/J8jQkg8azrnOjC1LiWFvJg
file:///F:/Ambitious%20Baba/One%20liner/January%202019/t.me/ambitiousbaba


 

Facebook Page                     Facebook Group                         Telegram Group                    Telegram Channel 

  

AMBITIOUSBABA.COM | MAIL US AT 

CONTACT@AMBITIOUSBABA.COM 
35 

 

24/  4ὼ + 24/  2ὼ = 6  

ᵼ 6 ὼ + 12 ὼ = 6  

ὼ = 18/ 6 = 3 Ὧάϳὶ 

 Ḉ Speed of boat in still water = 9 km/hr 

2. Equal distance is covered by a boat in upstream and in do wnstream in total 5 hours. Sum 

of speed of a boat in upstream and downstream is 40 km/hr. Speed of boat in still water is 

600% more than the speed of stream. Find the approximate distance covered by boat in 

downstream (in km).  (IBPS CLERK MAINS 2018) 

(a) 40 (b) 35 (c) 55 (d) 59 (e) 50 

Ans.(e) 

Sol. Speed of boat in still water = 20 km/hr 

Speed of stream = 207km/hr  

Ratio of speed of boat in upstream to that of downstream = 6 : 8 ᵼ 3 : 4 

Time taken by boat in upstream to that of downstream = 4 : 3 

Required distance = (20 +207) ×5 × 37 

Ђ υπ ËÍ 

3. A lighthouse is situated 30 km away from the shore. If ratio of time taken by boat to reach 

lighthouse during upstream and during downstre am is 2 : 1, then find the ratio of speed of 

the boat to the speed of the stream.  (IBPS RRB CLERK MAINS 2018) 

(a) 1 : 3 (b) 3 : 1 (c) 5 : 3 (d) 3 : 5 (e) 4 : 7 
 

Ans: B 

,ÅÔ ÓÐÅÅÄ ÏÆ ÔÈÅ ÂÏÁÔ ÂÅ ȬÁȭ ËÍȾÈÒ ÁÎÄ ÓÐÅÅÄ ÏÆ ÓÔÒÅÁÍ ÂÅ ȬÂȭ ËÍȾÈÒȢ 

And let time taken ÂÙ ÂÏÁÔ ÔÏ ÒÅÁÃÈ ÌÉÇÈÔÈÏÕÓÅ ÄÕÒÉÎÇ ÕÐÓÔÒÅÁÍ ÁÎÄ ÄÕÒÉÎÇ ÄÏ×ÎÓÔÒÅÁÍ ÂÅ ȬςØȭ Ǫ ȬØȭ 

respectively. 

There fore, 

  

  ȣɉÉɊ 

And (a ɀ b)  

  ȣɉÉÉɊ 
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From (i) & (ii)  

  

2a ɀ 2b = a + b 

a = 3b 

  

a : b = 3 : 1 

 

Profit & Loss  (Chapter -9)  

 

1)Cost price of a pen is 50 Rs. and that of notebook is 140 Rs. If p en is sold at 200% profit, 

then to purchase 10 such note books how many pens are required to sell if only profit money 

is used to buy notebooks?  (SBI CLERK MAINS 2016) 

(a) 18 (b) 14 (c) 12 (d) 22 (e) 24 

Ans: B 

C.P. of 10 note books ᵼ 140 × 10 = 1400 Rs.  

Profit on selling one pen ᵼ 50×200 /100 = Rs 100  

Number of pen required ᵼ 1400 /100 = 14 

2) There are two shopkeepers, first shopkeeper calculates his profit percent on the selling 

price whereas the second shopkeeper calculates his profit percent on the cost price. If the 

selling price for both the shopkeeper is same and the difference between their profits is 

Rs.175. Then, calculate the sum of the cost price for both the shopkeeper if the profit percent 
for the both shopkeeper is 25 %? (IBPS CLERK MAINS 2018) 

 

(a) Rs 5425 (b) Rs 4875 (c) Rs 4675 (d) Rs 5275 (e) Rs 5325 

 

Ans.(A) 
Sol. Let the selling price for each of the shopkeeper be Rs 100x 

For 1st shopkeeper 

SP= Rs 100x 

CP=  

For 2nd shopkeeper  

SP= Rs 100x 

CP=  
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ATQ,  

 

 
 Sum of cost price= Rs 5425 

 

 

3) A watch dealer sells watches at Rs. 800 per watch. However, he is forced to give two 

successive discounts of 10% and 15% respectively. However, he recovers the sales tax on the 

net sale price from the customer at 25% of the net price. Find the profit percentage if the C.P 

of watch is Rs.600. (IBPS RRB CL3RK MAINS 2017) 

(a) 23.5% (b) 21.5% (c) 25.5% (d) 27.5% (e) 26.5% 

Ans:D 

 

 

Profit Percentage =  

4)A shopkeeper sells shirts at the rate of Rs 400 p er shirt and allows a discount of 10% to all 

customers buying by full cash payment. Also, for all those customers who buy 10 shirts at a 

time, he counts 12 shirts. If a customer is willing to take both the discounts, what net 

effective discount can he avai l? (RRB CLERK MAINS 2017) 

(a) 37.5% (b) 12.5% (c) 33.33% (d) 25% (e) None of these 

 

Ans: D 

Price of 12 shirts = 400 × 12 = Rs 4800 

Price of 10 shirts = 400 × 10 = Rs 4000 

Cash discount on 10 shirts = 10% of 4000 = Rs 400 

Ḉ Total amount to be paid for 12 shirts 

= 4000 ς 400 = Rs 3600 

Net discount availed 
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Simple and Compound Interest (Chapter -10)  

 

1. The simple interest accrued on an amount of Rs. 20000 at the end of 3 years is Rs. 7200. 

What would be the compound interes t accrued on the same amount at the same rate in the 

same period?  (2016 SBI Clerk Mains)        

(a) Rs. 8342.36 (b) Rs. 8098.56 (c) Rs. 8246.16 (d) Rs. 8112.86 (e) None of these 

Ans: B 

S.I. =7200  

R=Ὓ.Ὅ×100/  ὖ×Ὕ = 7200×100 ,20,000×3 = 12% 

 C.I = 20000[ɉρϹρς Ⱦρππ Ɋͮσ Ϻ ρɎ  

= 8098.56 

2) A man invested an amount at the rate of 10% p.a. on compound interest and after two 

years he again invested half of the initial amount. If man got Rs. 457.2 Rs. as interest after 

three years, find the amount received by ma n after three years, if he invested same amount 

on simple interest at rate of 15% p.a.?  (IBPS CLERK MAINS 2018) 

(a) 1740 Rs. (b) 1720 Rs. (c) 1760 Rs. (d) 1780 Rs. (e) None of these  

 

Ans(a)  

Sol. 

Let man invested Rs. A  

And, after two years amount invested = (A +  

Equivalent CI of two year at 10% p.a. = 10 + 10 +  = 21% 

ATQ ɀ 

A A +   

0.210A + 0.171A = 457.2 

0.381A = 457.2 

A = 1200 Rs.  

Required amount =1200 + 1200  = 1740 Rs. 

 

3)  A sum of Rs 1000 after 3 years at compound interest becomes a certain amount that is 

equal to the amount that is the result of a 3 years depreciation from Rs 1728. Find the 

difference between the rates of CI and depreciation. (Given that CI is 10% p.a.)  (RRB CLERK 

MAINS 2017) 

(a)  % (b)  % (c) 3% (d) 2% (e) None of these 
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According to question, 

 

 

 

Different =10-25/3=5/3% 

Partnership (Chapter -11)  

1.  A, B and C started a business with their investments in the ratio 1 : 2 : 4. Af ter 6 month A 

invested the half amount more as before and B invested same the amount as before while C 

withdrew 1 4 th of his investment. Find the ratio of their profits at the end of the year.  (2016 
SBI Clerk Mains)       

(a) 5 : 12 : 13 (b) 5 : 11 : 14 (c) 5 : 12 : 14 (d) 5 : 12 : 10 (e) None of these 

Ans: C 

Let their investment be ὼ, 2ὼ and 4ὼ  

Ḉ A O  6ὼ + 6 × (ὼ + ὼ 2 ) = 6ὼ + 9ὼ = 15ὼ  

ὄ O  6 × 2ὼ +6 × 4ὼ = 36ὼ  

ὅ O  6 × 4ὼ + 6 × (4ὼ Ϻ 1 4 × 4ὼ) = 24ὼ + 18ὼ = 42 ὼ  

Ḉ Required Ratio = 15 : 36 : 42  

= 5 Ḋ 12 Ḋ 14 

2. A and B entered into a partnership with Rs.800 and  Rs.1600 respectively. From 9th 

months onward they each decided to invest Rs.100 more on starting of each month. If total 

annual profit is Rs.7700 then find the profit share of A.  (2018  SBI Clerk Mains)       

(a)2600 (b) 2860 (c) 2106 (d) 3240 (e) 2650 

Ans: 

Profit of A =7700/154 × 53 = 2650 Rs. 

σȢ ! ÓÔÁÒÔÓ Á ÂÕÓÉÎÅÓÓȟ ÁÆÔÅÒ φ ÍÏÎÔÈÓ " ÁÌÓÏ ÊÏÉÎ ÈÉÍ ×ÉÔÈ 2ÓȢτυππ ÁÎÄ ÁÆÔÅÒ ς ÍÏÎÔÈÓ ÏÆ "ȭÓ 

joining C also join them with Rs.4500. If A gets approx. Rs 4900 ou t of total annual profit of 

Rs.10,000 then find the app roximate value of initial investment of A.  (2018  SBI Clerk 

Mains)        
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(a) Rs.3800 (b) Rs.2200 (c) Rs.3600 (d) Rs.5400 (e) Rs.4200 

Ans: C 

 Let initial investment of A = x  

Ratio of profit A : B : C 

12 × x   :  6 × 4500: 4 × 4500  

X: 2250: 1500  

Now , 

 x/ x + 2250 + 1500 = 49/100 

  Ø Ђ 2Ó σφππ 

4) X and Y entered into partnership with Rs. 700 and Rs. 600 respec tively. After another 3 

months, X withdrew two -sevenths of his stock but after 3 months, he puts b ack three -fifths of 

what he had withdrawn. The total profit at the end of the year is Rs. 726. How much of this 

should X receive? (2018  SBI Clerk Mains)       

(a) Rs. 436 (b) Rs. 368 (c) Rs. 633 (d) Rs. 366 (e) Rs.362 

Ans: D 

 ·Ωǎ ƛƴǾŜǎǘƳŜƴǘ  

= (700 × 3) + (700 × 5/ 7 × 3) + (500 + 200 × 3 /5 ) × 6  

= Rs. 7320 

 YΩs investment = 600 × 12 = Rs. 7200. Ḉ XΩs share from profit = 7320 (7320+7200) × 726 = Ὑί. 366 

 

5) A and B entered in a business by making investment of Rs. 4000 & Rs. 5500 respectively. 

After six months A & B withdrew Rs. 1000 and Rs. 1500 respectively and C joined them with 

capital of Rs. 4x. If after one year and three months C received Rs. 2250 as profit share out of 

total profit of Rs. 12250, then find investment of C? (IBPS CLERK MAINS 2018) 

(a) Rs. 3600 (b) Rs. 3200 (c) Rs. 4400 (d) Rs 3000 (e) Rs. 2800 

 

Ans(d)  

Sol. 

Investment ratio of A, B & C = (4000  

                                                    = 51000: 69000 : 36x 

                                                    = 8500 : 11500 : 6x 

 

  

x=750 
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investment of C= Rs 3000 

 

6) Three persons  P, Q and R started a business by investing in the ratio of . After 5 

months, Q increases his investment by 2/3 rd of his initial amount. If after 12 months, 

the difference of the profit shares of P and R is Rs. 1,350 th en find the profit share of Q. 

(IBPS RRB CLERK MAINS 2018) 

(a) Rs. 11,500  (b) Rs. 11,200  (c) Rs. 12,250  (d) Rs. 11,250  (e) Rs. 10,250  

Ans:D 

Ratio of amount invested by P, Q and R = 8 : 6 : 9  

  

Ratio of their profit shares  

  

ATQ, 

3 unit = Rs. 1350 

1 unit = Rs. 450 

Profit share of Q = 450 × 25 = Rs. 11,250   

7)  Raman and Nakul invested in a business. Raman invested Rs 3000 and withdraw Rs 1500 

at the end of 8 th  month. Nakul invested Rs 1000 initially and Rs 3500 more at the end of 4 th  

month but withdraw Rs 1500 at the end of 7 th  ÍÏÎÔÈȢ !Ô ÔÈÅ ÙÅÁÒȭÓ ÅÎÄȟ ÔÈÅÙ ÅÁÒÎÅÄ 2Ó ρψππȢ 

7ÈÁÔ ÓÈÏÕÌÄ ÂÅ 2ÁÍÁÎȭÓ ÓÈÁÒÅ? (IBPS RRB CLERK MAINS 2017) 

(a) 800 (b) 920 (c) 864 (d) 850 (e) 795 

 

Ans: C 

2ÁÍÁÎȭÓ ÉÎÖÅÓÔÍÅÎÔ Ѐ ÆÉÒÓÔ ψ ÍÏÎÔÈÓ Ϲ ÌÁÓÔ τ ÍÏÎÔÈÓ 

= 3000 × 8 + 1500 × 4 

= 30,000 

.ÁËÕÌȭÓ ÉÎÖÅÓÔÍÅÎÔ Ѐ ÆÉÒÓÔ τ ÍÏÎÔÈÓ Ϲ ÎÅØÔ σ ÍÏÎÔÈÓ Ϲ ÒÅÍÁÉÎÉÎÇ ÆÉÖÅ ÍÏÎÔÈÓ 

= 1000 × 4 + 4500 × 3 + 3000 × 5 

= 32,500 
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2ÁÍÁÎȭÓ ÓÈÁÒÅ ÉÎ ÐÒÏÆÉÔ 

 

 

Number Series (Chapter -12)  

1)  7 151 223 259 277 ?           (2016 SBI Clerk Mains)        

(a) 268 (b) 295 (c) 286 (d) 259 (e) None of these 

 2)  27    30.2 23.8 33.4 20.6 ?      (2016 SBI Clerk Mains)        

(a) 30.2 (b) 36.6 (c) 39.8 (d) 17.4 (e) None of these 

3)  5 4 6 15 56 ?       (2016 SBI Clerk Mains)        

(a) 280 (b) 275 (c) 270 (d) 265 (e) 285 

 4) 7      10 21 52 121 ?       (2016 SBI Clerk Mains)        

 (a) 256 (b) 270 (c) 254 (d) 252 (e) None of these  

5)  5 3 4 ? 38      (2016 SBI Clerk Mains)        

(a) 8.5 (b) 6 (c) 7.5 (d)  8  (e) 10 

Ans: 

1)C 

2)B 

3)B 

4)D 

5)E 

Directions (6 -10): Wh at will come in the place of the question mark (?) in the following 

number series?  (IBPS CLEKR MAINS 2017) 

6. 117.5, 117, 119, 111, 143, ? 

(a) 9 (b) 12 (c) 15 (d) 18 (e) 21 

7. 15, 12, 31, 148, ? 

(a) 1039 (b) 1011 (c) 1012 (d) 1024 (e) 1027 

8. 1, 13, 83, 419, 1679, ? 
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(a) 5029 (b) 5039 (c) 5019  (d) 5049 (e) 5059 

9. 12, 25, 48, 99, 194, 393, ? 

(a) 780 (b) 786 (c) 792 (d) 783 (e) 789 

10. 3, 11, 31, 69, 131, ? 

(a) 215 (b) 217 (c) 221 (d) 223 (e) 213 

6. C 

7. E 

8. B 

9. A 

10. D 

 

Average  (Chapter -13)  

 

1. The average age of 28 men is 27 years. If the age of one more man is added to it, the 

average increases by 1 year. What is the age of the new man? (2016 SBI Clerk Mains)        

(a) 28 years (b) 42 years (c) 56 years (d) 54 years (e) None of these 

Ans: C 

Age of new man = 28 + 28 = 56 years 

2) )Î Á ÍÁÔÃÈ ÏÆ υπ ÏÖÅÒÓȟ ÔÅÁÍ !ȭÓ ÁÖÅÒÁÇÅ ÒÕÎÓ ÆÏÒ ÆÉÒÓÔ ÔÈÉÒÔÙ ÏÖÅÒÓ ×ÁÓ τȢυ ÒÕÎÓȾÏÖÅÒ 

while for the remaining 20 overs the average was 5.5 runs/over. Team B chased the target 

and lost by 10 runs. Find the average runs per over s cored by team B. (team B played all the 

50 overs).  (IBPS CLERK MAINS 2018) 

(a) 4.4 (b) 5.2 (c) 4.7 (d) 5.6 (e) 3.8 

 

Ans: C 

Sol. Total runs scored by team   

  

 Required answer   

  

 

3) If 6 years are subtracted from the present age of Ravish and takes 25% of that then we get 

ÔÈÅ ÐÒÅÓÅÎÔ ÁÇÅ ÏÆ ÈÉÓ ÏÎÌÙ ÓÏÎȢ τ ÙÅÁÒÓ ÁÇÏȟ ÈÉÓ ÄÁÕÇÈÔÅÒȭÓ ÁÇÅ ÉÓ χ ÙÅÁÒÓ ÍÏÒÅ ÔÈÁÎ ÈÉÓ ÓÏÎȢ 

3ÕÍ ÏÆ ÄÁÕÇÈÔÅÒȭÓ ÐÒÅÓÅÎÔ ÁÇÅ ÁÎÄ ÈÉÓ ×ÉÆÅȭÓ ÐÒÅÓÅÎÔ age is 10 years more than  RavishȭÓ 
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present age then find the prese nt age of Ravish if average of present age of entire family is 

30.25 yr ? (IBPS CLERK MAINS 2018) 

 

(a) 45 year (b) 50 year (c) 60 year (d) 40 year (e) 36 year 

 

Ans.(b) 
Sol.  

Let the present age of Ravish be x yr. 

Present age of his son =  yr 

Present age of his daughter=  

Present age of his wife=  

 

=121 

  

 

4) Average weight of 100 employees of a company is 60 kg. Average weight of male 

employees and femal e employees is 70kg and 45kg respectively. Then, find the ratio of male 

employees to female employees in the company.  (IBPS RRB CLERK MAINS 2018) 
(a) 1 : 4 (b) 4 : 1 (c) 7 : 6 (d) 6 : 7 (e) 3 : 2 

 

Ans: E 

 

,ÅÔ ÎÕÍÂÅÒ ÏÆ ÍÁÌÅ Ǫ ÆÅÍÁÌÅ ÅÍÐÌÏÙÅÅÓ ÉÓ ȬØȭ Ǫ ȬÙȭ respectively. 

There fore, 

x + y = 100  ȣɉÉɊ 

And, 

70x + 45y = 60 × 100 

70x + 45y = 6000 

14x + 9y = 1200  ȣɉÉÉɊ 

Multiply (i) by 9  

9x + 9y = 900  ȣɉÉÉÉɊ 

Subtract (iii) from (ii)  
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14 9 1200

9 9 900

5 300

60

x y

x y

x

x

+ =

+ =

=

=  

Put value of x in (i) 

60 + y = 100 

y = 40 

Required ratio  = 3 : 2 

 

5) Present age of Deepak is  ÍÏÒÅ ÔÈÁÎ +ÁÌÍÁȭÓ ÐÒÅÓÅÎÔ ÁÇÅȢ 7ÈÉÌÅ υ ÙÒÓ ÁÇÏȟ $ÅÅÐÁËȭÓ 

ÁÇÅ ×ÁÓ Ô×ÉÃÅ ÔÈÁÎ ÔÈÁÔ ÏÆ +ÁÍÌÁȭÓ ÁÇÅ ÁÔ ÔÈÁÔ ÔÉÍÅȢ &ÉÖÅ ÙÅÁÒÓ ÈÅÎÃÅȟ Ô×ÉÃÅ ÔÈÅ ÓÕÍ ÏÆ ÁÇÅÓ ÏÆ 

$ÅÅÐÁË ÁÎÄ +ÁÍÌÁ ÉÓ ÅÑÕÁÌ ÔÏ 2ÁÊȭÓ ÁÇÅ ÁÔ ÔÈÁÔ ÔÉÍÅȢ 4ÈÅÎȟ Æind present age of Raj.  (IBPS RRB 

CLERK MAINS 2019) 

(a) 46 (b) 41 (c) 36 (d) 42 (e) 44 

 

Ans: B 

Ratio of present age of Deepak to Kamla = 7 : 6 

Ratio of age of Deepak to Kamla 5 years ago = 2 : 1 

Let, age of Deepak and Kamla 5 years ago were 2x and x respectively. 

Atq, 

  

ᵼ 12x + 30 = 7x + 35 

x = 1 

present age of Raj = 2(2x + 10 + x+ 10) ɀ 5 

= 46 ɀ 5 

= 41 years 

6)There was one mess for 30 boarders in a certain hostel. If the number of boarders were 

increased by 10, the expenses of the mess would increase by Rs 40 per month,  while the 

average expenditure per head diminish by Rs 2. Find the original monthly expenses . (RRB 

CLERK MAINS 2017) 

(a) Rs 390 (b) Rs 360 (c) Rs 410 (d) Rs 480 (e) None of these 
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Ans: B 

Initial expenses = x  

New expenses = x + 40  

According to Question, 

  

  

 x = 360  

Data sufficiency  (Chapter -14) 
Directions (1 -4): The following questions are accompanied by two statements (I) and (II). 

You have to determine which statements(s) is/are sufficient/necessary to answer the 

questions.  (2016 SBI Clerk Mains)        

     (a) Statement (I)  alone is sufficient to answer the question but statement (II)  alone is not 

sufficient to answer the questions. 

     (b) Statement (II)  alone is sufficient to answer the question but statement (I)  alone is not 

sufficient to answer the question. 

     (c) Both the statements taken together are necessary to answer the questions, but neither of the 

statements alone is sufficient to answer the question. 

     (d) Either statement (I)  or statement (II)  by itself is sufficient to answer the question. 

     (e) Statements (I)  and (II)  taken together are not sufficient to answer the question. 

 

1. A bag contains some dairy milk, five Kitkat and seven five -star chocolates. Find number of 

dairy milk in the bag . 

I .  If one chocolate is drawn from the bag at random, then probability of being it Kitkat is  

II . If one chocolate is drawn from bag at random, then probability of being it either dairy milk or 

five - star is  

2.. A shopkeeper ÂÏÕÇÈÔ Á ÔÁÂÌÅ ÁÔ ÔÈÅ ÐÒÉÃÅ ÏÆ 2Ó Ȭς8ȭȢ &ÉÎÄ ÔÈÅ ÐÒÏÆÉÔ ÏÆ ÓÈÏÐËÅÅÐÅÒ ÏÎ 

selling table (In Rs.)  

I .  Shopkeeper sold table at 20% profit after allowing two successive discounts of 20% & 4% 

respectively and difference between marked price and cost price is Rs. 1620. 

II .  Cost price of a chair is 75% of cost price of that table and difference between their cost price is 

Rs. 720.  Shopkeeper marks up table by 56.25% and allows a discount of 23.2% on it. 
 

3. How many men and women are working on this task?  

I. (x ɀ 4) men work for first (x ɀ 8) days, after that (x+2) women complete the remaining work in (x 

ɀ 8) days.  

II. Ratio between work did by men to work did by women is 2 : 3 and efficiency of a man and a 

woman is equal.  
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4..  If smaller train added thre e more compartments of 15 m each, then find in what time 

both trains cross each other running in opposite direction  

I . Length of longer train is 25% more than that of smaller train and speed of longer train & smaller 

train is 81 km/hr & 108 km/hr respecti vely. 

II . Longer & smaller train cross each other in 36 sec running in the same direction.  

 

1. Ans(d) 
Sol. 

Let total number of dairy milk in bag = x 

From  I  

 =  

5x = 80   

x = 4 

From  II  

 +  =  

 =  

 16x + 112 = 11x + 132 

5x = 20 

x = 4  

So, either statement (I)  or statement (II)  by itself is sufficient to answer the question 

 

2. Ans(d)  
Sol. 

Given cost price of table for shopkeeper = 2X 

From I  

Selling price of table = 2X  

Marked price of table = 2.4X  

Given, 3.125X  

               X = 1440 Rs. 

Profit of shopkeeper = 2  

From II  

Cost price of chair = 2X  

Given, 2X  

               X = 1440 Rs. 

Marked price of table =  

Selling price of table = 4500  Rs. 

Profit of shopkeeper = 3456  

So, either statement (I)  or statement (II)  by itself is sufficient to answer the question 
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3. Ans(c) 

Sol. 

,ÅÔ ÅÆÆÉÃÉÅÎÃÙ ÏÆ Á ÍÁÎ ÁÎÄ Á ×ÏÍÁÎ ÂÅ ȬÁȭ ÕÎÉÔÓȾÄÁÙ 

From I  

(x ɀ 4) × (x ɀ 8) ×a ɀ Men total work  

(x + 2) × (x ɀ 8) ×a ɀ women total work  

From I and II  

  

x = 16,8 

(ÅÒÅȟ Ø Ѐ ψ ÃÁÎȭÔ ÂÅ ÐÏÓÓÉÂÌÅ  

So, x = 16 

So, number of men working = (16 ɀ 4)  

= 12 men 

Number of women working  

= (16 + 2)  

= 18 women  

So, Statement I and II both together are Sufficient  

 
4. Ans(c)  

Sol. 

From  I  

Let length of smaller and longer trains be 4L m and 5L m respectively  

From  I & II  

(108   

L = 30 meter 

Let time taken by both trains be T sec 

(108 + 81)  

52.5T = 315 

T = 6 sec 

So, Both the statements taken together are necessary to answer the questions  

 

Direction  (5-8): The following questions are accompanied by three statements (I), (II), and 

(III). You have to determine which statement(s) is/are sufficient /necessary to answer the 

questions  .(2018  SBI Clerk Mains)       

5. What is distance between A and B ? 

I. Two persons Amit and Abhi started simultaneously from A to B with their speed in ratio 4 : 5. 

II. Abhi reached reached B one hour earlier than Amit. 

III. Difference between speed of Amit and Abhi is 20 km/hr. 

(a)Only I and II. (b) Only II and III (c) All I, II and III (d) Cannot be answered even including all three 

statement (e) None of these 
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Ans: C 

From I, II & III Let speed of Amit and Abhi be 4x and 5x km/hr respectively.  

5x ɀ 4x = 20  

Ḉ x = 20 km/hr  

Let distance be d km 

 d/ 80 ɀ d/ 100 = 1 

 Ḉ d = 80 × 100/ 20 = 400 km 

6. What is the area of rectangle ? 

I. If ratio of length and breadth of the rectangle is 3 : 2. 

II. Circumference of a circle is 440 m and breadth of rectangle is 1/7 th of radius of the circle. 

III. If length is 50% more than breadth. 

(a)Only III (b) Only II and either I or III. (c) Only II (d) All I, II and III (e) None of these 

Ans: B 

From I and II Let length and breadth be 3x m and 2x m respectively 

 ςʌÒ Ѐ ττπ ɍÒ ᴼ ÒÁÄius of circle] 

 r = 70 m  

Ḉ breadth = 10 m & length = 15 m  

Ḉ Area = 10 × 15 = 150 m²  

Statement I and III are same. 

7. How many students failed in class 11th ?  

I. 400 Students passed in class 11th. 

II. No. of students failed in class 11th is 20% of those failed in class 12th. 

III. Ratio of student appeared to that of failed in class 11th is 5 : 3. 

(a)Only I and III (b) Only II (c) Only I and II (d) All I, II and III (e) Cannot be answered even 

including all three statements. 

Ans: B 

From I  

Passed = 400  

From III  
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Let number of appeared & Failed students be 5x and 3x respectively 

 2x = 400 ᵼ x = 200  

Ḉ failed = appeared ɀ passed 

 = 1000 ɀ 400 = 600 

8. In how many days, men A , B and C together can finish the same piece of work  

I. A and B can together finish the same piece of work  in 6 days. B and C together can finish the same 

piece of work in 12 days. C and A can finish the same piece of work in 10 days . 

II. The time taken by A alone to finish the same piece of work is 24 days less than time taken by C 

alone to finish the same piece of work. 

a) Only I b) Either I or II c) Neither I nor II d) Only II e) Both I and II 

Ans: A 

From statement I: 2(A+B+C) = (1/6) + (1/12) + (1/10) 

From this we can find  (A + B + C) ós one dayôs of work . 

From statement II: No such result can be concluded. 

 

Directions (9 -13): The following questions are accompanie d by two statements (A) and (B). 

You have to determine which statement(s) is/are sufficient /necessary to answer the 

questions : (IBPS CLERK 2017 MAINS) 

ɉÁɊ ÉÆ ÔÈÅ 3ÔÁÔÅÍÅÎÔ Ȭ!ȭ ÁÌÏÎÅ ÉÓ ÓÕÆÆÉÃÉÅÎÔ ÔÏ ÁÎÓ×ÅÒ ÔÈÅ 

question but ÔÈÅ 3ÔÁÔÅÍÅÎÔ Ȭ"ȭ ÁÌÏÎÅ ÉÓ ÎÏÔ sufficient 

ɉÂɊ ÉÆ ÔÈÅ 3ÔÁÔÅÍÅÎÔ Ȭ"ȭ ÁÌone is sufficient to answer the ÑÕÅÓÔÉÏÎ ÂÕÔ ÔÈÅ 3ÔÁÔÅÍÅÎÔ Ȭ!ȭ ÁÌone is not 

sufficient 

ɉÃɊ ÉÆ ÂÏÔÈ 3ÔÁÔÅÍÅÎÔ Ȭ!ȭ ÁÎÄ Ȭ"ȭ ÔÏÇÅÔÈÅÒ ÁÒÅ ÎÅÅÄÅÄ ÔÏ answer the question 

(d) if either the StateÍÅÎÔ Ȭ!ȭ ÁÌÏÎÅ ÏÒ 3ÔÁÔÅÍÅÎÔ Ȭ"ȭ alone is sufficient to answer the question 

(e) if you cannot get the answer from both the Statements together 

9Ȣ )Ó Ȭ:ȭ Á ÐÏÓÉÔÉÖÅ ÉÎÔÅÇÅÒȩ 

(A) Z7 > Z (B) Z8 > Z 

13. Find the value of 4 ^1/a + 4^1/b ?  

(A) Sum of inverse of a and b is equals to 6/5 

(B) MultÉÐÌÉÃÁÔÉÏÎ ȬÁȭ ÁÎÄ ȬÂȭ ÉÓ ÅÑÕÁÌÓ ÔÏ υ 

14. In how many days 14 men can complete a piece of work?  

(A) If 18 women can complete the same piece of work in 24 days. 

(B) If 28 children can complete the same piece of  work in 56 days. 
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15. When one ball is drawn a t random from an urncontaining 25 balls , what is the chance 

that it is red? 

(A) The urn contains 10 yellow and 8 green balls. 

(B) The urn contains all colored balls. 

16Ȣ )Ó Ȭ×ȭ ÁÎ ÉÎÔÅÇÅÒȩ 

(A) 3w is an odd number. 

(B) 2w is an even number. 

9. (a); From only (A) we can say whether Z is a positive integer or not 
Explanation: - If we look at Statement A, the condition of Z being a positive integer is being 
satisfied as putting a negative value will give Z7 < Z. Whereas, in the Statement B, putting both 
negative as well as positive values of Z will satisfy "Z8 > Z". So, we conjecture that option ȬÁȭÉÓ ÔÈÅ 
correct option. 
10. (c);  From (A) and (B) together value of 4^1/a +4^1/b can be find out. 
Explanation: - 
From (A) 1/a+1/b=6/ 5 
From (B) ab = 5 
So, value of 4^1/a + 4^1/b can be find out. 
11. (e);  7Å ÃÁÎȭÔ ÆÉÎÄ ÔÈÅ ÁÎÓ×ÅÒ ÁÓ ×Å ÄÏÎȭÔ ËÎÏ× ÔÈÅ capacity of men. IÎ ÓÔÁÔÅÍÅÎÔ Ȭ!ȭ ÁÎÄ Ȭ"ȭȟ ×Å 
are given about the capacity of women and children not about men. 
12. (e);  7Å ÃÁÎȭÔ ÆÉÎÄ Ôhe chance of getting a red ball becausÅ ×Å ÄÏÎȭÔ ËÎÏ× ÔÈÅ ÎÕÍÂÅÒ ÏÆ ÒÅÄ 
balls. 
13. (c);  When taking both statements together 3w = odd number and 2w = Even number A and B is 
possible only when w is an integer So, both the statements required to answer the question. 
 

Directions (14 -18): The foll owing questions are accompanied by two statements A and B. 

You have to determine which statements(s) is/are sufficient/necessary to answer the 

questions.  (IBPS CLERK MAINS 2018) 
     (a) Statement A alone is sufficient to answer the question but statement B alone is not sufficient 

to answer the questions. 

     (b) Statement B alone is sufficient to answer the question but statement A alone is not sufficient 

to answer the question. 

     (c) Both the statements taken together are necessary to answer the questions, but neither of the 

statements alone is sufficient to answer the question. 

     (d) Either statement A or statement B by itself is sufficient to answer the question. 

     (e) Statements A and B taken together are not sufficient to answer the question 

14. What is the value of rate of interest?  

A.  A sum of Rs 8000 is invested at simple interest for 3 years in scheme A which offers a certain 

rate of interest. Amount obtained from scheme A is equal to the amount obtained when Rs 9000 is 

invested in scheme B for 2 years at C.I.  

B.  Rate of interest for scheme B is same as rate of interest for scheme A. 
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 15. 4 men & 18 women can do a piece of work in 2.5 days, then in how many days 12 woman 

can complete the same piece of work?  

A. Ratio of efficiency of men to women is 3 : 2. 

B. 6 men & 6 women can complete the same work in 4 days. 

 

16.   What will be speed of stream, if speed of boat in still water is 22.5 km/hr?  

A. The time taken by boat to cover 120 km upstream is 4 hours more than time taken by boat to 

cover same distance in downstream. 

B. Boat takes total 15 hours to cover 150 km in downstream and upstream. 

 

17. What will be sum of two natural numbers X & Y?  

A.  X & Y both are multiple of 24, while X is 50% more than Y. 

B.  &  both are natural number. 

 

18. There is (2a+ 16) students in a class with three streams, i.e. art, science & commerce. The 

ratio of students who take art to science is 4 : 1. Find total number of students in class.  
A. Total students who take art is 8 more than total students who take commerce and probability of 

selecting one student who take science is . 

B. Total commerce students in class are 25% less than total art students in the class. 

 

 

14. Ans.(c) 

Sol. Let rate of interest for both scheme be R% 

So, 

Amount after 3 years =8000+  

=8000   

=80(100+3R) 

And 

80 (100+3R) = 9000   

(from this R can be calculated) 

²Ŝ ŘƻƴΩǘ ƘŀǾŜ ǘƻ ǎƻƭǾŜ ŎƻƳǇƭŜǘŜ ǉǳŜǎǘƛƻƴ 

We can see that R can be calculated from  

80 (100+3R) = 9000  

Both the statements taken together are necessary to answer the questions 

 
15. Ans(d)  

From A ɀ 

One man =  
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Total work =   

So, 12 women can complete the work =  = 5 days 

From B ɀ 

(4m + 18w)  

14m = 21w 

One man = 1.5 woman 

Total work = (4  

So, 12 women can complete the work =  = 5 days 

So, Either statement A or statement B alone is sufficient to give answer of the question. 

 

16. Ans(d)  

Sol. 

From A  

,ÅÔ ÓÐÅÅÄ ÏÆ ÓÔÒÅÁÍ ÂÅ ȬÙȭ ËÍȾÈÒ 

 =  

y = 7.5 km/hr 

From B ɀ 

,ÅÔ ÓÐÅÅÄ ÏÆ ÓÔÒÅÁÍ ÂÅ ȬÁȭ ËÍȾÈÒ 

 +  = 15 

y = 7.5 km/hr 

So. Either statement A or statement B alone is sufficient to give answer of the question. 

 

 

17. Ans(e) 

Sol. 

Form A ɀ 

Given, X & Y both are integer and both are multiple of 24 and X is 50% more than Y 

3Ïȟ 8 Ǫ 9 ÃÁÎ ÂÅ ɉχςȟ τψɊ ȟ ɉςρφ ȟ ρττɊ ÁÎÄ  ÓÏ ÏÎ ȣȣȣȣȣȣ 

So, data A alone not sufficient to give answer of the question 

From B ɀ 

Given, .  &  both are natural number 

But, we can not calculate the value of X & Y  

From A & B ɀ 

X & Y can be (720, 480) , (2160 , 1440) and so on ----------- 

So, Statements A and B taken together are not sufficient to answer the question 
 

 

18. Ans(a) 

Sol. 

Let students who take art and science be 4b & b respectively  

Total students who take commerce = (2a + 16)  

From A ɀ 
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4b  

 --------- (i)  

Also,   =  

-2a  ------------ (ii) 

b = 8  

Total students in class = 64 

From B ɀ 

(2a + 16 ɀ 5b)  ----------- (i)  

6a + 48  

31b = 6a + 48 

b =  

So, from statement I only. 

 
Directions (19 -23): The following questions are accompanied by two statements  (I) and (II). 

You have to determine which statements(s) is/are sufficient/necessary to answer the 

questions.  (RRB CLERK MAINS 2018) 

 
(a) Only I  
(b) Only II  
(c) Either I or II  
(d) Both I and II 
(e) None of the above  

 

19. Find the value of  ? (y>x) 

I. The difference of inverse of x & y is 8/3.  

II. the multiplication of x & y is 3.  

 

 

20. How many women are required to complete the work in 12 days.   

I. Efficiency of man is th of efficiency of woman.  

II. 16 men can complete th e same work in 10 days.  

 

21. In the triangle ABC. Find A᷁BD?   

 
I. Given that BC = CD.  

II. ᷁ ABC ɀ ᷁ BAC = 30° 
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22. What is the C.I. on a sum at the end of 3 years?   

I. C.I. at the end of two years is Rs. 110.  

II. Difference between CI and SI at the end  of two year is Rs. 100 and rate percent is 

10%.  

 

 

23. Two trains X and Y starts from point A and B respectively towards each other. What is 

the distance between them when they start?   

I. When both trains cross each other, time taken by train X to reach B is twice the time 

taken by train Y to reach A.  

II. Distance between them after 60 min. is 800 km.  

 

Solution:  

19. Ans.(d) 

Sol. 

From I & II 

1/x-1/y=8/3 

 xy = 3  

from I & II, we can find the value of . 9^1/x+9^1/y 

Ḉ Both I & II. 

 

 

20. Ans.(d) 

Sol. 

From I 

6 men = 5 women 

 

From II 

16 men can complete the work in 10 days 

Ḉ From I and II, no. of women can be found.  

 

21. Ans.(d) 

Sol. 

From I & II 

D᷁BC = ᷁CDB  

C᷁DB = ᷁DAB + ᷁ ABD 

A᷁BD = ᷁ CDB ς ᷁ DAB 

A᷁BD = ᷁DBC ς ᷁ DAB 

A᷁BD = (᷁ ABC ς ᷁ ABD) ς ᷁ DAB 

2 A᷁BD = ᷁ ABC ς ᷁ DAB               (᷁DAB = ᷁ BAC)  
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2 A᷁BD = 30 

Ḉ ᷁ ABD = 15°. 

So, Both I & II are required. 

 

22. Ans.(b)  

Sol. 

From I 

Sum cannot be found out as rate is not given.  

 

From II 

Difference =    

P = Rs. 10,000 

Ḉ CI can be find out.  

So, only II. 

 

23. Ans.(e) 

Sol. 

From I & II 

Cannot be determined even using both statements, as it is not possible to find speed of both trains. 

 

 

Direction (24 - 28): Each question below is followed by two Statements [I] and  [II]. You have to 

determine whether the data given in the statements are sufficient for answering the 

question. You should use the data and your knowledge of Mathematics to choose between 

the possible answers.  (RRB CLERK MAINS 2017) 

Give answer 

(a) if the Statement [I] alone is sufficient to answer the question but the Statement [II] alone is not 

sufficient 

(b) if the Statement [II] alone is sufficient to answer the question but the Statement [I] alone is not 

sufficient 

(c) if both Statement [I]  and [II] together are needed to answer the question 

(d) if either the Statement [I]  alone or Statement [II]  alone is sufficient to answer the question 

(e) if you cannot get the answer from the Statements [I]  and [II]  together but need even more data  

 

24. In how many days 8 women can complete the work?  

[I]. 10 men & 12 Women can finish the work in  days. 

[II]. 5 Men and 6 women can finish the work in  days. 

25. What is the radius of the circle?  
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[I].  Length of a rectangle is 10% more than the breadth. Area of rectangle is 440 cm². Length of 

rectangle equals to circumference of circle. 

[II]  .Circumference of circle is equal to side of square having area 484 cm² 

26. Ram sold an item. Find the M.P of the item? 

[I].   Ram gave two successive discounts is 20% & 5% on marked price. But after that 

take 25% more on discounted price as tax. Ram can earn 40 more If he sell the item at MP. 

[II]  .Ram gave two successive discount of MP i.e., 15% & 20% whereas Ram kept M.P. 50% 

more than the C.P. of that item. 

27.  Find the amount invested by Jagriti?  

[I].   If jagriti invested half of the amount in Yes Bank at 5% for 3years and half the 

amount in Kotak Bank at 6% for 5 year, she got Rs 4500 as Simple Interest. 

[II]  .Jagriti will get 2420 more if she will invest in a bank at 10% p.a. for 3 year at compound 

interest rather than 10% p.a. for 2 year in same bank at compound interest 

 

28.  What is the weight of Raju?  

[I].   There are four person Raju, Ramesh, Rajan, Rajguru. Average of weight of these four 

is 51.25. Average weight of Rajan and Rajguru is 47.5. Average weight of Ramesh & Rajguru 

is 57.5.  

[II]. In a class of 50 students having 30 kg as average weight If one students of  weight 30 kg is 

replaced by  Rajan then the average increases by 0.4.  

 

Solution:  

 

24. Ans.(e) 

Sol. From statement [I]  

10M + 12W takes  days to complete the work 

From statement [II]  

5M + 6W can complete the work in days 

"ÏÔÈ ÔÈÅ ÅÑÕÁÔÉÏÎÓ ÉÓ ÓÁÍÅ ÓÏȟ ×Å ÃÁÎȭÔ ÓÏÌÖÅ ÔÈÅ ÑÕÅÓÔÉÏÎ ÂÙ ÕÓÉÎÇ ÂÏÔÈ ɍI] and [II]  

Ḉ Hence, Neither statement [I]  nor statement [II] is sufficient to answer the question. 

 

25. Ans.(d) 
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Sol. 

From statement [I]  

L = 1.1 B 

LB = 440 ᵼ 1.1B.B = 440 

ᵼ B² = 400 

ᵼ B = 20 cm 

ᵼ L = 22 cm 

, Ѐ ςʌÒ 

22  

From statement [II]  

Area of square, a² = 484 

A = 22  

According to question 

ςʌÒ Ѐ ςς 

 

 

Ḉ Hence, Either statement [I]  alone or statement [II]  alone is sufficient to answer the question. 

 

26. Ans.(a) 

Sol. 

From Statement [I]  

MP = x 

After two successive discounts  

= 0.76x 

Final S.P after taking tax  

= 0.95x 

According to question 
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MP ɀ SP = 40 

  

  

x= 800 

 

From statement [II]  

Let, MP = x 

 

 

!Óȟ ÁÎÙ ÖÁÌÕÅ ÉÓ ÎÏÔ ÇÉÖÅÎ ÓÏ ×Å ÃÁÎȭÔ ÆÉÎÄ ÏÕÔ ÔÈÅ -Ȣ0Ȣ 

Ḉ Hence, Statement [I]  alone is sufficient to answer the 

question but the Statement [II]  alone is not sufficient 

27. Ans.(d) 

Sol. 

From statement [I]  

Let total amount =x 

 

 

 

From statement [II]  

 

 

 

 

 

Ḉ Hence, Either statement [I]alone or statement [II] alone is sufficient to answer the question. 
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28. Ans.(c) 

Sol. 

From statement [I]  

Raju + Ramesh + Rajan + Rajguru = 51.25×4 

= 205     ȣȢɉÉɊ 

Rajan + Rajguru = 47.5 ×2 = 95 ȣɉÉÉɊ 

Ramesh + Rajguru = 57.5 ×2 = 115  ..(iii)  

 

 

From statement [II]  

Let Rajan weight = x 

Weight of 50 students = 30 × 50 

= 1500 kg 

Weight after one students replaced by Rajan = 1500 ɀ  30 + x  

30.4 × 50 = 1470 + x 

1520 ɀ 1470 = x  

x = 50 

Rajan Weight = 50 kg 

 

From Statement [I]  and [II]  

 

  

  

  

  

Ḉ Hence, Both Statement I and II together are needed to 

answer the question 
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Data Interpretation  (Chapter -15)  

Directions (1 - 5): The table given below shows the monthly salary of six employees working 

in a leading manufacturing firm.  (2016 SBI Clerk Mains )       

 

 1. What is the difference between average monthly income of Aditi all over the years and 
monthly income of Raksha in 2015?   
(a) Rs. 17250  
(b) Rs. 18150  
(c) Rs. 17510  
(d) Rs. 17150  
(e) None of these  
 
2. Monthly salary of Ritesh in 2016 contributes for what percent in total monthly salary of 
Richali, Piyush and Krishna together in 2016? (approximately)  
(a) 30% 
(b) 32% 
(c) 38% 
(d) 42% 
(e) 28% 
 
3. Find the ratio of annual salary of Aditi in 2012 and Raksha in 2 014 together to that of 
Piyush in 2013 and Richali in 2011 together?   
(a) 6 :7  
(b) 7 : 6 
(c) 5 : 4 
(d) 3 : 2 
(e) None of these 
 
4. Monthly salary of Piyush and Krishna together in 2013 is by what percent more or less 
than that of Aditi and Raksha together  in 2015? (approximately)  
(a) 19% more 
(b) 16% less 
(c) 19% less 
(d) 16% more 
(e) 29% less 
 
5. In 2015, Raksha donated 5% of her monthly salary, she then lent out 20% of remaining 
salary on CI at 5% for 3 years. Find the interest (approx.) earned by her af ter 3 years?  
(a) Rs. 1381 
(b) Rs. 1318  
(c) Rs. 1418 
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(d) Rs. 1315 
(e) Rs. 1300 
 
 
1 Ans: D 
Average Monthly income of Aditi=1/6*161100=26850 
Different = 44000-26850=17150 
 
2.Ans-D 
Percentage= 31000/97200*100=32%  
 
3.Ans :E 
Ratio= (24500+40200)*12/(31800+19200)*12=647/510  
 
4..Ans:C 
Monthly salary of Piyush and Krishan=31800+27900=59700 
Monthly salary of Aditi and Raksha=29300+44000=73300 
Percetage= 13600/73300*100=19% less 
 
5.Ans: B 
20% of amount left after donation=1/5*95/100*44000  
=8360 
C.I after 3years=8360*0.1576=1318 
 

Direction (6 -10): Study the following line graph and answer the questions based on it.  (2016 

SBI Clerk Mains)       

 
Number of Vehicles Manufactured by Two companies ove the Years (Number in Thousands)  

 
 

6. What is the difference between the number of vehicles manufactured by Company Y in 

2000 and 2001 ? 
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(a)50000 

(b)42000 

(c)33000 

(d)21000 

(e) 20000 

7. The production of  Company Y in 2000 was approximately what percent of the production 

of Company X in the same year ? 

(a)173 

(b164 

(c)132 

(d)97 

(e) 90 

8. In which of the following years, the difference between the productions of Companies X 

and Y was the maximum among the g iven years ? 

(a)1997 

(b)1998 

(c)1999 

(d)2000 

(e) 2002 

9. What is the average numbers of vehicles manufactured by Company X over the given 

period ? (rounded off to nearest integer)  

(a)119333 

(b)113666 

(c)112778 

(d)111223 

(e) 111400 

10.  What is the differen ce between the total productions of the two Companies in the given 

years ? 

(a)19000 

(b)22000 
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(c)26000 

(d)28000 

(e) 26050 

Ans: 

6. Answer:  Option D 

Required difference = (128000 - 107000) = 21000. 

7.Answer: Option B     

Required percentage = 
 

128000 
x 100 

 

%  164%. 
78000 

 

8. Answer: Option D  

The difference between the productions of Companies X and Y in various years are: 

For 1997 (139000 - 119000) = 20000. 

For 1998 (120000 - 99000) = 21000. 

For 1999 (141000 - 100000) = 41000. 

For 2000 (128000 - 78000) = 50000. 

For 2001 (120000 - 107000) = 13000. 

For 2002 (159000 - 148000) = 11000. 

Clearly, maximum difference was in 2000.  

9. Answer:  Option A 

Average number of vehicles manufactured by Company X 

    = 
1 

x (119000 + 99000 + 141000 + 78000 + 120000 + 159000) 
6 

    = 119333. 

10. Ans: C 

From the line-graph it is clear that the productions of Company X in the years 1997, 1998, 1999, 
2000, 2001 and 2002 are 119000, 99000, 141000, 78000, 120000 and 159000 and those of 
Company Y are 139000, 120000,100000, 128000, 107000 and 148000 respectively. 

Total production of Company X from 1997 to 2002 

    = 119000 + 99000 + 141000 + 78000 + 120000 + 159000 

    = 716000. 
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and total production of Company Y from 1997 to 2002 

    = 139000 + 120000 + 100000 + 128000 + 107000 + 148000 

    = 742000. 

Difference = (742000 - 716000) = 26000. 

 

Direction (11 -15): The following data shows the working hours for three employees 

in week days to complete a task. The working hours also indicates the time taken by 

them to complete the same task alone. Read the following questions and answer 
carefully.  (2018  SBI Clerk Mains)       

 

 

11. What is th e difference between average of working hours of A on Monday and Saturday 
together and average of working hours B on Friday and Saturday together?  
(a) 0 (b) 1 (c) 0.5 (d) 2 (e) 2.5 
12. On Tuesday, If A takes half the working hour time to complete a work wh ile B takes equal 
time as A and C takes 50% more time to complete the same work alone. What will be the 
ratio of their working efficiency to complete a work?  
(a) 7 : 7 : 18 (b) 7 : 18 : 18 (c) 18 : 18 : 7 (d) 18 : 7 : 18 (e) 9 : 9 : 4 
13. Working hours on Friday by A, B and C are the time taken by them to complete a work 
alone. How much time will they take to complete thrice the same work working together ? 

(a) 6  days (b) 4  days (c) 3  days (d) 4 days (e) 4   days 

14. On Thursday, A was supposed to complete the task in time. Due to illness, he stopped 
when only one -third of the task was complete. Half of the remaining work was completed by 
B alone and rest by C alone. Find the total time taken by them to compl ete the task. 
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(a) 8 days (b) 7  days (c)  7 days  (d)  7   days (e) 7   days 

15. What is the ratio of total work hour of A and C together throughout the week to that of B 
throughout the week ?  
(a) 7 : 5 (b) 5 : 2 (c) 31 : 13 (d) 37 : 15 (e) 74 : 33 
 

11. Ans.(a) 
Explanations  
 

A :  

B :  

Difference = 0 
 
12. Ans.(c) 
Explanations  
 

 
Ratio = 18 : 18 : 7 
 
13. Ans.(b)  
Explanations  
 
On Friday 

 
 

Time taken to complete thrice the work =  

days 

 
14. Ans.(b)  
Explanations  
 
Thursday: 
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"Ù ! ᴼ  units in hrs 

"Ù " ᴼ  units in hrs 

"Ù # ᴼ ψ ÕÎÉÔÓ ÉÎ hrs 

Total time taken =  days 

 
15. Ans.(e) 
Explanations  
A + C = 74 
B = 33 
So, required ratio = 74 : 33 
 

Directions (16 -20): Given below is the information regarding to the result of 3 students 
Arun, Sanjeev, Kamal in sessional exams of class 12th. Read it carefully and answer the 
following questions: ɀ 

There are total 5 subjects i.e. Physics, Chemistry, Maths, English, and computers each 

carrying different maximum marks. Physics and Chemistry both carries equal maximum 

marks i.e. 35. Math carries maximum marks 5 more than Physics and 10 more than English. 

Total of maximum marks of the 5 subjects is 160. Kamal scored 60% in Physics, while 

Sanjeev scored 48 4/7% in the same subject. Arun scored only 13.5 marks in Physics. Arun 

scored 24 marks in Chemistry which is 60% more than the marks scored by Sanjeev in the 

same subject. The total of the marks of 3 students in chemistry i s 58, Kamal scored (A)  

marks in Maths, while Sanjeev scored 35% in the same subject and Arun scored highest in 

maths with 29 marks. Arun scored 40% in English which is (B %) less than the marks of 

Sanjeev in the same subject. Score of Kamal in English is 14 marks. The sum of marks of 

Arun and Sanjeev in computers is 32 while the ratio of the same is 9 : 7. Kamal scored 

77.5% marks in computers. (2018  SBI Clerk Mains)       

16. Average marks scored by the 3 students in English is 15 So,  What value will come at the 
ÐÌÁÃÅ ÏÆ Ȭ"ȭȩ 

(a) 25% (B) 20% (c) 33 1/3% (d) 35% (e) None of these 

17. Calculate the percentage of marks obtained by Kamal in the sessional exams 53.125%  
7ÈÁÔ ÖÁÌÕÅ ×ÉÌÌ ÃÏÍÅ ÁÔ ÔÈÅ ÐÌÁÃÅ ÏÆ Ȭ!ȭȩ 

(a) 16.75 (b) 18 (c) 22 (d) 15.5 (e) 17 
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18. Marks of Sanjeev in English and Mathôs in what percent more or less than by marks of all 

the 3 students in computers?(round off to 2 decimal places). 
a) 32.63%b) 33.33%c) 35.63% d) 36.63%e) 38.63% 

 

 

16. Ans- C 

 
Required average=(12+18+14)/3=15 

 

17. D 

Required percentage =(85/160)×100=53.125% 

18. A 

required percentage =(47.5 ɀ 32)/47.5×100=32.63% 

 

Direction (21 -23): Pie chart shows the percent of money s pent by family on various item 

during 1999. Study the graph and answer these questions.  (2018  SBI Clerk Mains)       
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21)  If the total amount spent was Rs. 46,0 00, how much money was spent on clothing and 

housing together?  

A. Rs. 11500 B. Rs. 1150 C. Rs. 10000 D. Rs. 15000 E. 16000 

Ans: A 

Explanation: 

Amount spent on clothing and housing together  
= (10 + 15)/100 * 46,000 = Rs. 11,500 
 
22) If the total expenditur e of the family for the year 1999 was Rs. 46,000, the family saved 
during the year  
A. Rs. 1500 B. Rs. 15000 C. Rs. 6900 D. Rs. 3067 E. 34698 
Ans:C 
Money saved = Rs. (15/100 * 46,000) = Rs. 6,900. 
 
23) If the total amount spent during the year 1999 was Rs. 46000, the amount spent on food 

was : 
A. Rs. 2000 B. Rs. 10580 C. Rs. 23000 D. Rs. 2300 E. 10800 
Ans: B 
Amount spent on food = Rs. (23/100 * 46,000) = Rs. 10,580. 
 
Direction (24 ɀ 29): Given below table shows number of employees joined (at the beginning 

of the year) & left (at the end of the year) in three companies i.e. A, B & C in three years 

(2001, 2002 & 2003). Read the data carefully and answer the questions.(Some data are 

missing) . (IBPS CLERK MAINS 2018) 
      Years                            A                  B                     C 

         Joined       Left      Joined     Left     Joined       Left  

   2001      102       __      96     18    84     36 

   2002       78      24      72     __   108     __ 

   2003      112       __     144     __   124     28  

24. In year 2000 total employee who joined A is 64 which is 32% of total employee working 

in A that year and total employee who left A in year 2000 & 2001 is 20 & 32 respectively. If 

employee left B in year 2002 is 16 and this company starts in  2001, then find total employee 

working in B at the end of 2002 is approximate what percent of total employee working in A 

at the end of 2002? 

(a) 36% (b) 48% (c) 52% (d) 44% (e) 56% 

25. The ratio of total employee who left B & C in the year 2002 is 7 : 9 and total employee 

working in B & C at the end of 2000 are 160 & 172 respectively. If total employee working at 

the end of 2003 in C is 406, then find total employee working in B at the end of 2002?  
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(a) 284 (b) 296 (c) 298 (d) 302 (e) 306 

26. Total employe e working in B at the end of 1999 is 220 and 28 employee left company in 

2000, while 32 new employees joined the company. If respective ratio of employee left the 

company B in year 2002 & 2003 is 6 : 7 and total employee working in B at the end of 2003 is 

466, then find total employee left B in 2002 & 2003 together?  

(a) 52 (b) 48 (c) 42 (d) 36 (e) 32 

27. The average of total employee left company A in the given three years is 21 and ratio of 

employee left in 2001 to in 2003 is 7 : 6. If company A start in 2 001, then find total employee 

working in A at the end of 2002 is what percent more than total employee who joined 

company C in the year 2002? 

(a) 20% (b) 15% (c) 25% (d) 30% (e) 22.5% 

28. Total employee who left C in the year 2002 is 33  more than total employee who left A 

in same year and total employee who left B in 2002 is 62.5% of total employee who left C in 

same year. If all three companies start in 2001 and total 22 employee left A in 2001, then 

find the respective ratio of employee work ing in B , C & A at the end of 2002? 

(a) 65 : 62 : 69 (b) 66 : 62 : 69 (c) 65 : 61 : 67 (d) 61 : 62 : 69 (e) 65 : 62 : 67 

29. Each company start in 2001 and ratio of total employee left A in 2001 to that of B & C 

together in 2002 is 1 : 2. If total employe e who left A in 2001 and that of B & C together in 

2002 is 36 and total employee who left B in 2002 is 50% of employee who left C in same year, 

then find difference between total employee working in C at the end of 2003 and total 

employee working in A at t he end of 2002 ? 

(a) 92 (b) 82 (c) 72 (d) 96 (e) 86 

 
24. Ans(D) 

Sol. 

Total employee working in A in year 2000 = 64  

Total employee working in A at the end of 2002 = (200  

Total employee working in B at the end of 2002 = (96  

Required percentage =   

                                       = 44.07  

25. Ans(D) 

Sol. 

Let total employee who left B and C in the year 2002 be 7a and 9a respectively 

ATQ ɀ 

172 + 84  

9a = 424  

9a = 18  

a = 2 

Employee left B in 2002 = 14  

So, total employee working in B at the end of 2002 = 160 + 96   

 

26. Ans(A) 

Sol. 
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Total employee working in B at the end of 2000 = 220  

Let total employee left B in 2002 & 2003 together be 6x & 7x respectively  

ATQ  

224 + 96  

13x = 518  

13x = 52 

So, total 52 employees left B in 2002 & 2003 together. 

 

27. Ans(C) 

Sol. 

Total employee left A in the given three years = 21  

Total employee left A in 2001 & 2003 together = 63  

Total employee left A in 2001 = 39  

Total employee working in A at the end of 2002 = 102  

Required percentage =   

                                     =   

                                     = 25% 

 

28. Ans(E) 

Sol. 

Total employee left C in the year 2002 = 24  

Total employee left B in the year 2002 = 32  

Total employee working in A at the end of 2002 = 102  

Total employee working in B at the end of 2002 = 96 130 

Total employee working in C at the end of 2002 = 84  

Required ratio = 130 : 124 : 134 = 65 : 62 : 67 

 

29. Ans(A) 

Sol. 

Total employee left A in year 2001 = 36  

Total employee left C in year 2002 = (36   

Total employee working in A at the end of 2002 = 102  

Total employee working in C at the end of 2003 = 84   

Required difference = 236  

 
Direction (30 -34): - Pie chart given below gives information about total no. of students who 

appeared in six different exams i.e. railway, ctet, cgl, chsl, cpo and banking exams and table 

given below gives ratio of students belonging to general, obc a nd other category out of who 
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